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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647466
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5096479219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster which is related to third letter cluster in the same way as the second letter cluster is related to
first letter cluster.

PURSE : LSNOC :: DARING : ?
Options:

1. « ZWNEKC

7 % ZENGIB

3 % ZYMGIC

A v ZYNGIC

Question Number : 1 Question Id : 5096479219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I¢ U TEE I SN A IO W T I RE T T ¢ W e ¥ g7 IO THE TeT IO W @
Taoa gl

PURSE : LSNOC :: DARING : ?
Options:

1. = ZWNEKC

2 % ZENGJB



3. % ZYMGJC

4. v ZYNGJC

Question Number : 2 Question Id : 5096479220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number which is related to third number in the same way as the second number is related to first number.

5332:94 12842 :7
Options:
1. = 164

7 % 174

3. ¢ 176

A = 197

Question Number : 2 Question Id : 5096479220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IF T g S Ol TE ¥ 3E e ¥ FET ¢, B e ¥ gl s ugel wE ¥ wEfia

5332 : 94 - 2842 : ?
Options:

1. = 164

2. = 174



3 v 176

4. » 197

Question Number : 3 Question Id : 5096479221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four number pairs are similar in a certain manner while one is different. Choose the odd one out.

Options:

1. =

[
L)
L
LN
[-a

7 % 264:62

3 % 996:83

L
s

A« 245

Question Number : 3 Question Id : 5096479221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Yeod TEIT TeAT H ¥ & U allh ¥ TAF g, F9ia 398 § UF 3T gl $a8 & v g1

Options:

1. %« 235:52

2 % 264 : 62

3. % 996 : 83



4. » 245 : 58

Question Number : 4 Question Id : 5096479222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four siblings are to share 5 pieces of cake amongst themselves. It was decided that the youngest amongst them would
get to eat the extra piece. If
a) Karan is one year younger than Raman.
b) Raman is two years older than Gaurav, who is three years younger than Naman.

Who should get the extra piece of cake?
Options:

1. ®* Naman

? % Karan

3.« Gaurav

/. % Raman

Question Number : 4 Question Id : 5096479222 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

SR S-S N HTH H ek % 5 9 Fiea §1 Tg TF g T 30 F FeH oI H AARFT I T
T fEerEm|

T
a) FI0T THA ¥ TF AT BT gl
b) T 7T & & W §I1 §, S 774 ¥ A7 TH oI F

s ¥ P8 ¥ # sfaiea 9 Feer ofge?

Options:

1. = &FAA

7w WO



Sg?ﬁﬁ

Question Number : 5 Question Id : 5096479223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Three of the given four letter cluster pairs are similar in a certain manner while one is different. Choose the odd one out.

Options:
1. ® ADMIRER : OFCGOBO

9 % CHERISH : GTEPEPF

3.« DURABLE : PSBYBHZ

4 = BRACKET : CTDAQBH

Question Number : 5 Question Id : 5096479223 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AN Yeed d07 FAE FAT H § A1 Ul ¥ §AS g, FEld 3949 8§ Th 79T g1 a0 § Fww )

Options:

1. = ADMIRER : OFCGOBO

2. % CHERISH : GJEPEPF

3. » DURABLE : PSBYBHZ



4. = BRACKET : CTDAQBH

Question Number : 6 Question Id : 5096479224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the figure amongst the option figures which has the same characteristics as the two Problem figures.

Al

Problem Figures

=
2,3-

Options:

3. v

Question Number : 6 Question Id : 5096479224 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25




g Iwfous Fiadl 7 ¥ 98 wepfa I Swe sffereror & goea smpfadt & @A )

A

Problem Figures

&

1]
@
®

Options:

Question Number : 7 Question Id : 5096479225 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four word pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. » Annoying : Exasperating

7 x Busy: Swamped



3  Large: Indolent

4. » Dangerous : Perilous

Question Number : 7 Question Id : 5096479225 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IR Feod e TeAT H F A UF e ¥ TA g, el 3a5 § TF e ¢ a0 & fawe g+

Options:

1. = @A : 3cdald

233@?:3'1?1?

3. o ST HFHUT

A, % TAAF : HheHd

Question Number : 8 Question Id : 5096479226 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Two different positions of the same dice, the faces of which are numbered | to 6, are shown below. Which number is on
the face opposite the face showing 27

Options:

1. = 1

2. 3



Question Number : 8 Question Id : 5096479226 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

v & e (R) Fr & Rffes e, B9 wes Fr 1 ¥ 6 g% g Bar o &, 9 R aw
g HEr 2 RE I B & %= 9T Weldh 9¢ AT 9T F)

KL
. "z. . ,3
Options:

1. = 1
2. v 3

Question Number : 9 Question Id : 5096479227 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following patterns of the dices can be formed when the sheet given below is folded?

Options:
1. % Onlyland2

? % Only2and3

3  Only2and4

4. % Onlyland4

Question Number : 9 Question Id : 5096479227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S 9ecd ofe & Wies faar Srar §, 99 3w (TR) F SeHA A ¥ FiA 6 U g Hepar g2

Options:

1. » a1 32

2 % Faa 2 3R 3

3 v Faa 23R4

4. = Faa 1374

Question Number : 10 Question Id : 5096479228 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Jonita travels 25 m towards north from her home and reaches her shop. From there, she turns right and walks 35 m.
Then she takes right turn and walks 15 m. Then she takes left turn and walks 20 m. She finally takes right turn and
walks 30 m and reaches an ATM.

What is the approximate shortest distance between Jonita's shop and the ATM?
Options:
1. =« 70m



? & T7lm

3 % 73m

4 % 75m

Question Number : 10 Question Id : 5096479228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 39 X & 25 m Seel A 3R TS HA gFA Tgad ¢ T@ § IE g% AR Fq5H 3B m
Toct g1 f 38 g% 3R [z 15 m T g1 T 38 918 X J3aT 20 m T B ¥ H aE as
3R F{EH 30 m T § 3R v vdew & 95T A 2

Shiferar @ gt 3R TR & I "iease TR gl I S

Options:
1. = 70 m
7 ¢ 71m
3 % 73 m
4. = 75 m

Question Number : 11 Question Id : 5096479229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which number will replace the question mark in the given matrix?

12 | 58

tn

2

14| 79 5

18 | 56 16

| | &

39| 90

Options:
1. = 12

? % 35

Question Number : 11 Question Id : 5096479229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Jecd HTEUg H e e & T W Bl € FEAT HA?

1258 |5 | 2
14796 | 5
18 56 |4 |16
39|90 (3| ?
Options:
1. = 12



4, v 27

Question Number : 12 Question Id : 5096479230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four girls, A, B, C and D. and four boys. E, F, G and H are sitting around a round table facing the centre and at equal
distance from each other. C is sitting between A and B. F is third to the left of B. D is sitting just opposite H. C is at
equal distance from F from both left and right. B is sitting between two girls. G is at second left place of E.

Which of the following statement is NOT correct?

Options:
1. % F issitting between G and E.

2 % Dissitting between B and E.

3.« His third to the left of B.

4. » BandG are sitting opposite each other.

Question Number : 12 Question Id : 5096479230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IT Fsfar A, B, C 3t D, iR IR &I=F E, F, G 3R H & 7a 7 & 2&-71¢ @Ax &7 3T @

gcwa;a‘{ﬁmq?rqtéﬁﬁ CANNRBFITTAIELIF, B ¥ T 3T JET TIF 9T 337 21
D3% H& Taa 981 g1 C a5 3R a1 3R @ F ¥ T8 g0 W 38 g1 B & wsferat & &= 38 g

G, E ¥ 1% 3 @ TUE W 837 g

SAH ¥ A T FUF TET AT 87

Options:

1. » F, G 3R E & & a1 &l



2 %« D, B3R E &% &iT 38 gl

3 H, B ¥ &% 3T dWY T W T g

4. % Bﬁ?&ﬁ@?#'ﬁlﬂﬁﬂ?%l

Question Number : 13 Question Id : 5096479231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight persons P, Q. R, 5, T, U, V and W are sitting clockwise around a circular table at equal distance clockwise from
each other facing the centre. If R is sitting in North-west then which direction is U facing?

Options:
1. # South-—east

? % East
3. v West

/. % North—east

Question Number : 13 Question Id : 5096479231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

s EFT P, Q R, S, T, U, VIR Wt 7 1 & g&-f1¢ w2t i feer & ey & 3k & go
TH T Y TAR G R4S E| IR R 3o - wRaw R A, A U B RE g w2

Options:

1. = SfeyuT - g



Question Number : 14 Question Id : 5096479232 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Three teachers Priti, Rehman and Sanaya teach one of three subjects i.e. Molecular Biology, Biochemistry and Zoology
to one of three batches A, B and C, but not necessarily in the same order. Priti does not teach Biochemistry. Rehman
teaches Biochemistry to Batch B. Priti does not teach Batch A. Sanava does not teach Molecular Biology. Batch A is not
taught Biochemistry.

Which subject and batch is taught by Priti?
Options:
1. » Molecular Biology — A

? w Zoology—A

3  Molecular Biology — C

4. % Zoology—C

Question Number : 14 Question Id : 5096479232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O et N, ®AT 3 g A, B 3R C 39 3= § ¥ U F HUfEs A9-AAe, S9-ET
AT goi-faaa J @ F12 vF fGAug gee & T F58 F78r &F S8 5 # 99 g1 9y 9@ 78T
ST g1 WA 89 B H FT-THIA TS gl 9fy a7 A F FE Terar g FArar HuifEs siE-fEae
TET 9T ¥l AT A F SAT-THES F&T ST 14T B

Hify FiF a1 g ik &w 8= FF 9w g

Options:

1. = 3orfas S9-ffa= - A



2w goN-FEe - A

3. v uiEs FF-fae - C

4. = gmoi-fEae - C

Question Number : 15 Question Id : 5096479233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Count the number of triangles in the given figure.

Options:
1. = 11

7 = 12

3 % 10

L

4 v 1

Question Number : 15 Question Id : 5096479233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tecd Hpfa # T[T S FE&A1 9T FHH

Options:



2 = 12
3 = 10
4. v 15

Question Number : 16 Question Id : 5096479234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three statements are given, followed by three conclusions. The symbols used in them have meanings as follows:
P (@ Q means P is neither smaller than nor greater than Q.

P # Q means P is neither greater than nor equal to Q.

P & Q means P is neither smaller than nor equal to Q.

P % Q means P is not greater than Q.

P $ Q means P is not smaller than Q.

Now read the following statements and decide which of the conclusions is/are true.

Statements:
A&B
C@bD
B#D
Conclusions:
I. B#C
II. A%D
III. A#C
Options:

1. « Only conclusionIis true.

2 % Only conclusion II is true.



3 x Only conclusion IIT is true.

4. % All conclusions I, Il and III are true.

Question Number : 16 Question Id : 5096479234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Tt BT 71w § 3R 3% g d few of R aw d1 s g3 e # e e &
P@RQAFITEFPIFT QA TrIE 3R 7 737 71
PHQF HTEZFPIAT QA Ier ¢ 3k 7 =T &
P&QHFITFFPITAT QI Trer g 3k 7 s7aT 2
P% Q& 3T ¢ & P QI 5z 78T ¥
PS$Qa iy g™ P QI oler 78T 81
3 BT w7 9g 3R a7 w1 F =E ¥ ST vy Ty 3@ 28
FYA:
A & B
C@D
B#D
IGA= Ok
. B #C
Il.A % D
I.A # C

Options:

1. » Faer @y | @@ g

2w FHae Ay || wEr g

3w e Ay |l TEr g

4. » T s 1R g B



Question Number : 17 Question Id : 5096479235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three statements are given, followed by four conclusions numbered I to IV. Assuming the statements to be true even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
given statements.

Statements:

All wires are plastics.
Some wires are particles.
Some particles are rods.

Conclusions:
I. Some plastics are particles.
II. Some rods are wires.
III. No rod is wire.
IV. No plastic is particle.
Options:
1. % Only conclusionI and II follow.

? % Either conclusion IT or III follow.

3 Only conclusion I and either IT or IIT follow.

/] = Either conclusion I or IV and either IT or III follow.

Question Number : 17 Question Id : 5096479235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT Fra Rridsar g I gIviaar Tt fitrew i s d F Fua wdr ¢, s &
TEATEs Tt @ W E, 77 F T FiE T T IEF T X Tocd FUF FHFEOT FA 2

FYeT:
st gy cenfees §

. FT comiEH qrfearaT &1

I ¥ s ax &

ll. g TS O =& &

V.S ceoiies Wfidsha 74T 2

Options:

1« Faer faswy | 3 11 srgEvor Fa §

5, TS ILA L F F PG HFEOT A L

5 Fae TSRS AR LA F T FRG AT A F

A (SRS AT IV AR SR AN A F P IO R B

Question Number : 18 Question Id : 5096479236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of six persons is to be selected from among five boys, A, B, C, D and E, and five girls, P. Q. R, S and T, such
that there are equal number of boys and girls in the team and it meets the following criteria:

i. A and T cannot go together.

ii. B and E cannot go together.

iii. D and T must be together.

iv. E and S have to be put together.
v. Rand T have to be put together.

Which of the following teams can be formed?
1. CRDETS
2. BQTESR
3. ASDERT

DQBTRC

Options:
1. %= land3

i

? % 2and3

3. « land4

4 = 1.3 and 4

Question Number : 18 Question Id : 5096479236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfg @EHT A, B, C, D 3R E, ik wim s=f@ai P, Q R, S 3R T & @ % 0 9&R ¥ o & &7 I
e & R &\ # s 3R wsfeat #r Jw U @ R T Aves @ e e

i. A 3T T e @y 7ET & @l

i. B 3T E v @y g & Fal

ii. D 3T T v @y = =fgwl

iv. E 3T S =T s @y w@ar g

v. R 3k T & v @y 1@ar g9

SAd ¥ *id O &F FaART I Tadr 272
1.CHEDETES
2. BQTESR
3. ASDERT
4. DQBTRC
Options:



3 v 1374

4 % 1,3 3R 4

Question Number : 19 Question Id : 5096479237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The criteria for selecting a candidate for the post of ‘Software Engineer’ are as follow.

The candidate:
1. must have passed Bachelor of Computer Applications (B.C.A.) examination with at least 70% marks.

2. must have secured more than 65% marks in the written test and more than 75% in the interview.
3. must not be less than 24 years and not more than 35 years of age as on 1 January 2019.
However, if a candidate fulfils all the above criteria EXCEPT:
a. no. 2, but has got more than 80% marks in B.C.A. examination, his’her case is to be referred to the Senior
Software Engineer.
b. no. 3, but has completed M.C.A. with at least 75% marks. his/her case is to be referred to the Head (Software
Development).
Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.
Pulkit completed B.C.A. with 82% marks. He was born on 24™ December 1994, He has got 65% marks in the written
test and 76% marks in the interview.
Options:

1. % The candidate is to be selected.

? % The candidate is not to be selected.

3  The candidate’s case is to be referred to the Senior Software Engineer.

4. % The candidate’s case is to be referred to Head (Software Development).



Question Number : 19 Question Id : 5096479237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FFEAI SNAI & 98 & o 39ear 9t & v Aaes feagan &

3FHIEE:

1. 3490 HF FoUeX ToeiheeE (B.CA) g wifgw 3k 3ws suaaw 70% 3% g =il
2. @ odeT 7 3% 65% ¥ 8w @ Trge ik weTeer F 75% ¥ 6O g =igv
3.1 ==l 2019 @5 3EFT 37 24 H ¥ &7 o1 35 @ ¥ e g g e

greltieh, T 3FAeaR 390 Jef Aes I T ¢, Jarw:
a. 7. 2, AT 38F B.CA. H 80% ¥ 39 3+ & o 3TF AHAT ITss WFeaw sfAaT =
ST AT
b. #. 3, AT =qAAA 75% P F WY MCA. I & & o 3HF AHAG THE (WFead
STITHE) T ST ST
9eed ATECET F FaT W AT T o ywfafee sme w oAt e e e e IEieeR
fore e == 2

qerfehd o 82% 3T & W B.C.A. qU H B1 3HH ed 24 AT 1994 1 gam o1l 385 fofea
afaT F 65% 3 FaTHR H 76% 3w fFer 2
Options:

1 = 3FARER AT ST =T

5 3FHIGAR FT A AT A AT

3 » 3FHARGAN ¥ AHA I IS FHEadT FAAT & TH HF AT AeT

4 = SFAICAR & ATHS H THE (VFeaIT STe9HS) F 97 A7 &1 =T

Question Number : 20 Question Id : 5096479238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘Legal Advisor® are as follow.

The candidate:
1. must have completed Master of Legislative Law (L.L.M.) with at least 75% marks.

2. must not be less than 24 years and not more than 35 years of age as
on | January 2019.
3. must have at least two years experience of practising as a lawyer.

However, if a candidate fulfils all the above criteria EXCEPT:
a. no. 2, but has got more than 4 years practising experience as a lawyer, his/her case is to be referred to the Senior
Legal Advisor.
b. no. 3. but is ready to fill a bond of not leaving the job for at least 2 years, his/her case is to be referred to the
Director.
Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.
Tanva has done L.L.M. with 75% marks. She was born on December 30, 1994, She has got two vears practising
experience as a lawyer. She is ready to fill a bond of not leaving the job for two years.

Options:
1. «+# The candidate is to be selected.

? % The candidate is not to be selected.

3 x The candidate’s case is to be referred to the Senior Legal Advisor.

4] % The candidate’s case is to be referred to the Director.

Question Number : 20 Question Id : 5096479238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



R gomger’ & 9¢ ¥ v s7fear 37w ¥ v Amds arger &

3FAIGANR:

1. ATER ATE aAfereifed & (LLM.) gar arffe #R 38& sg=7aa 75% 3% g =1ev|
2. 1 =TT 2019 T& 3WHr 37 24 T ¥ & o1 35 T ¥ 30F FEr g e
3. #OEEFAT & FT H FH & T HH T HH &l T FT AT g a1gql

grelter, Ife 3Fea] 3o @l AWes Q@ &4ar 8, e

a. 7. 2, dftha 3% H HOEFA & T A FH F F 4 FE F HGHAT g, af SHA
ATHAT ase RAfSr gemgsR #t #=r FArwem

b. #. 3, JfFad 2 FT T AlFT 7 TS F des T & fov AT 2, aF 3THT A=A
HcerF & J= AT

Yacd HAECET & 3T W AR B off srfafea Il «w ot e e, s e 3eAear
¥ fore e a=T 2

AT 7 75% I & W LLM. Fr g1 3T Sew 30 Fa 1994 FT gam o 3WF 9w o
TTet HT HOTFAT F T H FIH F F HHa g| I¢ al Al aF AR F IS H a8 1WA F
farr d=m 2

Options:

1 v 3FAERT AT ST =T

5 3FAGER & FgT AT ST =R

3 x 3FAIGEAR % A &l I8 &S FAGPN & IH A ¢ar =Mgv|

A w 3FAGER F AH Hl [Heek & 98 A A7 =T

Mental Ability?2

Group Number : 2
Group Id: 509647163



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability?2

Section Id : 509647323

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647467
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5096479239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the option figures represents the correct water image of the figure given below?

79N\

Options:



Question Number : 21 Question Id : 5096479239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S MFadl H W HidT T 3P Tecd HFT $T guor BT gaiidr gl

PR

Options:

N K K K



Question Number : 22 Question Id : 5096479240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct mirror image of the given cluster when a vertical mirror is placed on the right of the word.

ty7kmp3h9s2qz
Options:

1. = 2edEqmiTyisds
7 » spleeri€qunity’
3.« pSeerd&qmitys

4. » FAKwb3paesds

Question Number : 22 Question Id : 5096479240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yoo WHE T WE 0T TfF T, IR W F R 3R T FeATUR 0T T@T A 2

ty7kmp3h9s2qz
Options:

1. = zedEqgrmiTyisds

2 x spleeri€qunitys

3 spSeer&qmnity?

A, «= Hakwb3paesds



Question Number : 23 Question Id : 5096479241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight symbol-number clusters are given below three of which are same. Find the three clusters that are exactly same.

(A)% S8 #&3*)4#@55*S
(B) %S "8#&3*(4#@S5*S
(C) %S 6#&3*(4#@S5*S
(D)% S 8#&3*(4S@S5*S
(E) %S 8#S$3*(4#@S5*S
(F)%S A8#&3*(4%#@S5%S
(G)% S 8#&3*(4#@#5*S
(H) %S 8#&3*(42@55*$

Options:
1. = B.C and E

7 % A CandD
3 % B,DandH

4 « B, FandH

Question Number : 23 Question Id : 5096479241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A HTS TAF-HEAT F g U a0 &, 3aH7 ¥ 7 ve §A g1 Roge @A O wog 94T
A) %S8 "#83+)4#@S55+$
B) %S 8#83+(48@S55+5
C)% $"6#8&3+(4H@DE5+%
D)% S"84#83+(4S@S5+$
) (
(

(E)% $“8#53«(4#@$5+5$
(F)% $~8#&3+(A#@S$5+8$
G) %S "8#&3+(4H@H#H5+S

H %S "8#&3+(48#@%55+5
Options:



Question Number : 24 Question Id : 5096479242 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the given figures. when fitted into each other would form a hexagon? Select an appropriate combination from
the given options.

NP

AN

Options:
1. « ABCE

7 % ABCD
3.« ABCF

/. % BCDF

Question Number : 24 Question Id : 5096479242 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
=8 ¥ 0 33 #1799 v wF g F e B Srar & O o sewr s yeed et & @
TR TS g4

DQ&
O AN

Options:
1. = ABCE
2 % ABCD
3. v ABCF
4. = BCDF

Question Number : 25 Question Id : 5096479243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the diagram given below, the circle stands for *Married persons’, the triangle stands for ‘Trainers’, the rectangle
stands for *Teachers’. and the square stands for ‘Ph.D. holders’. The numbers in different segments represent the
number of persons.

i

Which of following statement is NOT correct?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:

1. Atotal of 111 persons are not married.

?  The number of married teachers who are trainers also is 21.

3. The number of teachers who are Ph.D. holders and trainers both is 11.

/. Ph.D. holder trainers are 23.

Question Number : 25 Question Id : 5096479243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Weed 3@ #, Ioa ‘TarRa wfFaar 1 gar g, Beger wRerr @ auifer § smwaa Rewr @
gear & 3T I o= g &Y geTar §1 HeE-3reeT Wal $r & 1 HEAr’ egfegar fr §Ear &+
Tl &

SAH U Fid WT FUT TeT el 872

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1 T 111 =fea Refea 7@ €

> faarfea Rt St 9w off € 39 F&T 21 2



3. R S o ave & ar-ary gfets o g, 3 ' 11 E

4. WTEEr 9 gfereTes 23 &)

Question Number : 26 Question Id : 5096479244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option figure which contains figure X embedded in it as its part.

NI

Figure-X
Options:




Question Number : 26 Question Id : 5096479244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIH U 9% WP I 3w Apia X sHerr T o7 g

NI

Figure-X

Options:

Dh




Question Number : 27 Question Id : 5096479245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following option figure will complete the pattern in the figure given below?

/_...
/Y
i
Al A
N ~

Options:

L L

Question Number : 27 Question Id : 5096479245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SAH U &I B Hpia A" Feod Mpia Heed &l T HL?

77

¥
v

<

Options:

e L

Question Number : 28 Question Id : 5096479246 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Garvita is only daughter of Ankit. Ritesh’s father’s sister is Alpa’s mother. Yamini is mother-in-law of Divya. Ritesh is
son of Prateek. Yamini is maternal grandmother of Alpa. Garvita’s brother is Divya’s husband. How is Ankit related to
Yamini?

Options:

1. = Brother



2 % Nephew

3 % Son

4« Husband

Question Number : 28 Question Id : 5096479246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afdar 3ifaa & swaldr 98 &1 Qe & Rar $r sga 3o $r \@@r g @@ feear o aw g1 @y
Teleh T 92T &1 THAT Fo9T 7 AT 21 Ifaar o7 s2 g =+ 9fy g1 3 3t ofas &5 gy 9o
F|

Options:

2. x 4T
3 % &
4, v 9@

Question Number : 29 Question Id : 5096479247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the fourth term in the same way as first is related to second.

Bhutan : Thimphu :: : Vienna
Options:
1. » Bulgaria



7 « Austria
3w Egypt

4. » Germany

Question Number : 29 Question Id : 5096479247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7¢ ReT I S Y 9T ¥ 38 e & FIfoT & O @ & TEer gEY | HwEfad gl

e : e o : ferga
Options:
1, » SR

Question Number : 30 Question Id : 5096479248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A question is given, followed by four statements labelled I. II, III and I'V,
each containing some information. Decide which of the statements is/are
sufficient/necessary to answer the question.

Question:
How is A related to D?
Statements:
I. Qis son of A, who is married to P.

II. P is mother of D.
III. Q has a daughter S.

I'V. D is paternal uncle of S’s sister.

Options:
1. «~ Statement I and II together are sufficient.

2w Statement L, II and III together are sufficient.

3 x Statement I, IIT and IV together are sufficient.

4. » Allthe statements together are necessary.

Question Number : 30 Question Id : 5096479248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TH FoT & &g | L1 3 IV dser F dgd TR Fua fGw av §, v A o
d FT ASFNT & 8 g TF F F 99T F 3w & & T sAH ¥ FiA
T/ FUT qaea/FE 28

ERCE

A 3T D &1 frear gar 37

YA
. Q, A & 31 g, formehr omdr P & g5 21

Il. P, D &r AT 2
Il. S, Q &r & 2

IV. D, S &r §g= T =IT=/ar=T 8l

Options:
1 » U | 3R |l wHaEry 93 gl

2 & FUA |, 1l HR NIl vRETY TE@TT g

3. « w1 3R IV vy 93T B

4.« T FUT THATYT T B

Question Number : 31 Question Id : 5096479249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘MODIFY" is coded as 78 in a code language, how would *ZODIAC’ be coded in the same code language?
Options:
1. « 89



7 % 90

3 % 93

4 = 94

Question Number : 31 Question Id : 5096479249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I e g AT & ‘MODIFY' & 78 f&ar a/ar 2, ar 38T i 91 #§ ‘ZODIAC' &7 &1 &I &Far
FATTEN?

Options:

1. v 89
2 = 90
3. = 93
4 = 94

Question Number : 32 Question Id : 5096479250 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

24 % 27+ 632—-471 + 158 = 181
Options:
1. = 471 and 158, + and +

? % 632and 471, —and x



REE" 632 and 24, +and +

4. « 632and 471, +and -

Question Number : 32 Question Id : 5096479250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEmH AR R & 57 oA A ¥ FF @ IR 39 DY 3w # e W OF Seed Ao
HHHIOT A g H g HLEm?

24 x 27 + 632 - 471 + 158 = 181
Options:

1. = 471 AT 158, + 3k +

2w 632 3 471, - 3R x

3. « 6323 24, + 3k +

4. » 632 3R 471, + 3R -

Question Number : 33 Question Id : 5096479251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A total of 200 students play one of the three games tennis, badminton and hockey. Only 8% play all the three games.
The number of students who play any two and only two games is 18% of the total students. The number of students who
play hockey alone is 32. What is the total number of students who play badminton alone or tennis alone?

Options:
1. = 110

7« 116



3. % 118

A = 120

Question Number : 33 Question Id : 5096479251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fo 200 o7 ¢fow, dsffes @k R F @ ve A wed € FI 8% & I Aw wew § e
ol H W I AT A Fad & FF WoId g, 3ol HEAT Fol oAl H 18% gl FFer gl Wored arer oIar
@I FEAT 32 g1 Fad S=THeT T e g Weoled JTel STSF I FE&AT 9T 1|

Options:

1. % 110
2. v 116
3. % 118
4. = 120

Question Number : 34 Question Id : 5096479252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among five objects A, B, C, D and E; C is two and a half times heavier than D; B is twice heavier than A; A is one and
a half times heavier than C. E is half as heavy as B. Which of the following the statements is NOT correct?

Options:

1. % B is three times heavier than C.

2 % AandE are equally heavy.

3w Bis the heaviest among all the objects.



/]« Bis 5 times heavier than D.

Question Number : 34 Question Id : 5096479252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 TEHT A, B, C, DAREA R C, DR @ 7T &1l &; B, A { I+ o7 &; A, C & 3¢ T
o ¥ E, B ¥ 3l ondy ¥ = ¥ FiT T FuT Th A8 22

Options:

1. = B,Cﬁﬁﬁﬂ?ﬂﬂﬁ%l

2.« A AR E 2=t sus & gl

3w B @l awga & wa® 17 g

A , B D¥5 I A E

Question Number : 35 Question Id : 5096479253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four persons A, B, C and D have different amount of rupees with them. B says to D, ‘If you give me 5 rupees, I will
have five rupees less than A.” C says to D, ‘If I give you one rupee, I will have exactly double amount than you.” C says
to A, ‘If I give you 8 rupees, I will have 5 rupees more than you'. If A and B together have total 86 rupees, how many
rupees does D have?

Options:
1. = 28
2.v 33

3 % 30



4 = 31

Question Number : 35 Question Id : 5096479253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR =fFaat A, B, C 3R D & 9F 3eer-370 T94 g1 B, D ¥ & §, ‘3N gH #H 5 TF g &, A
AT T A F O T FA N7 C, D ¥ FEAT §, 3PN gH T TF 94T & &1, @ W I gAY a9
T & SN C, A T FgaT §, 3R gF HS 8 TIH & &, A AY W IAY 5 T FUET g7 AT A
3T B 41 & 9H Fo 86 T4 g, @ D F I Fraw = §2

Options:

1. = 28
2. v 33
3 = 30
4. = 31

Question Number : 36 Question Id : 5096479254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Three of the given four words are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. = Veil

7w Mask

3 x Camouflage

4. « Bare



Question Number : 36 Question Id : 5096479254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yerd IR U@l A ¥ T TF HF W FAA g, el T ol g1 394 § faww =)
Options:

1. = HAEOT

Question Number : 37 Question Id : 5096479255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out.

HH| 22|66

1 2 3 a

Options:

1. % 1

I

2. %



Question Number : 37 Question Id : 5096479255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yecd IR HFadl H ¥ e UF dle d TAS ¢, Saie T Aol gl 307 ¥ &Owd I+

HH| 5|06

1 2 3 4

Options:

3. v 3

Question Number : 38 Question Id : 5096479256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

6,1, 7.8.2.21
Options:
1. «+ 18

? % 20

3 % 22



4 = 24

Question Number : 38 Question Id : 5096479256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ feT I S g@er # goF ey (7) # wér giaraia e

6, ¥; 4, 8,721

Options:

1. v 18
2 = 20
3w 22
4. = 24

Question Number : 39 Question Id : 5096479257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

95, 99, 110, 140, ?
Options:
1. = 205

7 % 206

3. ¢ 207



A % 208

Question Number : 39 Question Id : 5096479257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¢ T I S g@er # v Reg (2)F T giaraia e

95, 99, 110, 140, ?

Options:

1 % 205
2 % 206
3. v 207
A x 208

Question Number : 40 Question Id : 5096479258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

161, 190, 231, 287, 362, 461, ?
Options:
1. = 588



A % 608

Question Number : 40 Question Id : 5096479258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¢ T I S g@er # v Reg (2)F T giaraia e

161, 190, 231, 287, 362, 461, ?

Options:
1. % 588
2 & 590
3 % 595
4. = 608
General Awarenessl
Group Number : 3
Group Id: 509647164
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl



Section Id : 509647324

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647468
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5096479259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these sports is always an individual single-player
sport? There is no tournament known in which more than
one player plays per side.

Options:

1. = Rowing
2. » Tennis
3. v Chess
4. = Carrom

Question Number : 41 Question Id : 5096479259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAAH  hiel AT Tl EALT shadl Ueh Eollel Zanl Tell oIl &7
UHT 15 ColHC Tlol & [oidH Yodeh Hd H qlel T® U 4
s Earsr & o &I

Options:

1. = Q=T
2. = cfard
3. v odel
4. = FH

Question Number : 42 Question Id : 5096479260 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

In the cyber world of Snapchat, WhatsApp, Facebook, Twitter,
and Instagram, what is the most widely accepted full form of
LOL?

Options:

1. = Literally One Life
2. v Laughing Out Loud
3. # Live On Life

4. = Life of Legends

Question Number : 42 Question Id : 5096479260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, LOL =) =IT9sh &7 O orafei@d & @ g 319 & &R
foraT =T &7

Options:

1. = Tolgell gaT &3%w (Literally One Life)
2. v kel 313¢ o138 (Laughing Out Loud)
3. = Torg 3feT o3 ® (Live On Life)

4, » o3H 3H oleisd (Life of Legends)

Question Number : 43 Question Id : 5096479261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per Indian mythology, Airavata, the white elephant, is the
mount of which of these Gods?

Options:

1. = Varuna
2. % Yama
3. v Indra
4. = Agni



Question Number : 43 Question Id : 5096479261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT GRITOIR FATHT F (AR, The g1l Wiad, 38 4
forer 2adar Fr Tanr &7

Options:

1. = T%OT

2. = gH

3. v 3%
4, % 3Tde

Question Number : 44 Question Id : 5096479262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Latin motto ‘Doctrina Vim Promovet Insitam’ (which
means ‘Learning Promotes Natural Talent’) is the motto of
which of these universities?

Options:

1. v University of Madras

2. = Jawaharlal Nehru University
3. * Anna University

4, = University of Hyderabad

Question Number : 44 Question Id : 5096479262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

olfeal TST T Uk 3MEel aoFy ‘SiidesT [dH WMAdE SledcH
[Doctrina Vim Promovet Insitam’] (Fo7geer 3127 § ‘Teram
STeHSITd YT T §ear gdr §) Terafeidd # & ford
TreaTaemer &1 Ueh 3reel arra &7

Options:

1. v #AGE Tdeafacrer




2. » SIATELATS aig® [gedfdedrerd
3. » 3ol Floiaieel
4. = geyreng Tdeafdearer

Question Number : 45 Question Id : 5096479263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the company that is currently fighting litigation with
farmers of Gujarat over the growing of a specific variety of
potato. The company claims that it has an exclusive plant
variety protection (PVP) for that type of potato?

Options:

1. = Coca Cola

2. v PepsiCo
3. » Unilever
4. = Kellogg’s

Question Number : 45 Question Id : 5096479263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafafEd # 8 37 $Ue &7 ofH Sd50 S AT H 31Te]
1 TR fafeIse fored & dea 9 IeTd k fRATE & Ay
HheH oF TEI B shoell 1 arar § fo 37 g’ & 31 & fov
38 g faey et < fafdy geam (PVP) Aleg &

Options:

1. % ShIRT hlel
2. v Uftgehr
3. % YlaTellad

O,

4. % FHollal

Question Number : 46 Question Id : 5096479264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Name the unified script that has been created by IIT Madras
that uses a multi-lingual optical character recognition (OCR)
scheme for integrating and unifying 9 Indian languages?

Options:

1. v Bharati

2. » Sanskriti
3. = Parampara
4. = Lipl

Question Number : 46 Question Id : 5096479264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IT A SaRT el 35 3H Uehlhd EhRTT T FT ATH g Sl
9 TR HTHIST FI S5l N Thiped el & fovw Fg-sm
Miceawrar Faer NawPaera (OCR) SUGEAT FT STAATST Al &7

Options:

1. v HARCT
2. » TP

c

3. % TIUET
4. = oo

Question Number : 47 Question Id : 5096479265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the Indian university whose researchers have
developed an ultrasensitive quantum thermometer using
graphene quantum dots. The thermometer can measure very
minute (micro Kelvin) changes in temperature.

Options:

1. * Osmanabad University
2. » Kamaraj University
3. v Jamia Millia Islamia University



4, = Kerala University

Question Number : 47 Question Id : 5096479265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3G MR Taeafacdre T T a7 § oraesh erereshdiait o
ATRIT FITEH SicH &I 3UIET Fleh Tdh HecH350 FalcH
qATATCY ThfaT T &7 I8 YATHIY dvdATd & &7 fAdace
(ATSsh hiedd) Blal dTel IRdclel sl AT Hehell &l

Options:

1. » 3EATAETG Taeaiaedred

2. = AN deaidedTey

3. v SIfAAT TATERT SEeniAaT faeaidadre
4. » ¥el Taeaiaererd

Question Number : 48 Question Id : 5096479266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which politician from below has won the Chhindwara Lok
Sabha seat in the state of Madhya Pradesh 9 times?

Options:

1. = Digvijay Singh

2. v Kamal Nath

3. » Shivraj Singh Chouhan
4. » Madhavrao Scindia

Question Number : 48 Question Id : 5096479266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feIToad # @ T Toleldl o 9 ) AT UeeT I &
fScareT aergAT T e shar &7

Options:

1. = fogsg &8




2. ¢ hHel AT

3. = Torawrer g g
4. = AT =T

Question Number : 49 Question Id : 5096479267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the saint who was born in West Bengal, is considered
an avatar of Lord Krishna and is the founder of the sect called
Gaudiya Vaishnavism?

Options:

1. » Swami Vivekananda

2. » Sri Ramakrishna Paramahansa
3. v Chaitanya Mahaprabhu

4. » Keshab Chandra Sen

Question Number : 49 Question Id : 5096479267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el # & 39 Od &7 AT a7 § TSl Sod UeaH
SITeT A g3 e, 3o¢ HITATeT ST T TAN AT ST § 3T
d ST TouTgare ATHS VST & TEATTH &7

Options:

1. = TGTAT Tddhldg

2. = AT THAFSU WHAGH

3. v Ided A

4. = el AE el

Question Number : 50 Question Id : 5096479268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous Buddhist scholar Ashvaghosha was a
contemporary of which one of the following?



Options:

1. = Ashoka
2. v Kanishka
3. = Harsha
4. = Bindusara

Question Number : 50 Question Id : 5096479268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UiaE Sig fagare 3reaaly fdrafei@d & & fhash ddshrelle 47

Options:

1. % 37eMeh
2. v etk

4. » fSegur

Question Number : 51 Question Id : 5096479269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Business magnate and philanthropist Adamjee Peerbhoy and
his son Abdul Hussein Peerbhoy built which of these toy train
services in India?

Options:

1. » Kalka-Shimla Train Service

2. v Neral-Matheran Train Service
3. = Nilgiris Mountain Train Service
4. » Kangra Valley Train Service

Question Number : 51 Question Id : 5096479269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foretald Haele 3 TNIFRT VAT Iy 3T 3eteh o 3sqel
@Hmﬁﬁmﬁﬁmﬁwaﬂﬁmmmﬁmﬂ

Options:



1. % SRToTRI-TAHT ¢oT TGT
2. v ATA-ATIRI ¢l 8aT
3. = ATAERT 9dd ¢ef TAT
4, = SRATET ©ET ¢al GaT

Question Number : 52 Question Id : 5096479270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the famous Malayalam poet who was instrumental in
the revival of Kathakali as an art form. He was instrumental
in setting up the renowned Kerala Kalamandalam to preserve
and teach the Kathakall art form?

Options:

1. » Kumaranasan

2. = Ulloor S Parameswara Iyer
3. v Vallathol Narayana Menon
4. = Vyloppilli Sreedhara Menon

Question Number : 52 Question Id : 5096479270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 UT8E HAATAH hid T FIT o7 & ST Ueh el & &7 H
FHeTholl & JoIegR H TEF A? 3e@lel kel Fell & FIETOT
3T e 2 & olv uiiE Flal FollHSAH T TATTaAT H
AgeaqoT fHeRT fordTs |

Options:

1. = FHRTTEH

2. * 3eo U AT 3T

3. v Teo2diel ARTI0T Ada
4. % FTTNTUeell ATUT Aelel



Question Number : 53 Question Id : 5096479271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BJP leader Narendra Modi contested and won two seats in the
2014 Lok Sabha elections. He retained Varanasl. Name the
seat that he won and relinquished.

Options:

1. » Ahmedabad

2. % Surat

3. « Mumbali (South)
4. v Vadodara

Question Number : 53 Question Id : 5096479271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTSTIT T aRg AT o 2014 & olhgHT gmcﬁ H ar der W
JATd 3T M ST I8 7| 3eglel TRIOET T dIC HI
aqﬂlﬁgu fFaTel&a # ohg "I &1 IET haT a1?

Options:

1. = gHCIEG

2. = T
3. « Has (afaom)
4. v B

Question Number : 54 Question Id : 5096479272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the Indian Prime Minister who signed the Assam
Accord with the All Assam Students Union, ending a
prolonged 6-year agitation in the state?

Options:

1. = Morarji Desal
2. » Chandrasekhar
3. = Indira Gandhi



4. v Rajiv Gandhi

Question Number : 54 Question Id : 5096479272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TiFeiToIId # @ 98 Filed @ ARG TITIHAT § Toleglel 3Tl

A TCS5CH Jloidel & Y IHHA AT W FEAER F T
H ofs §AY @ Tolel dTol 6 GTel & 3faTelel I FHTCT [haT?

Options:

1. » ARSI HTS
2. % TUZABT

3. = =TT e
4. v TG T

Question Number : 55 Question Id : 5096479273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full form of the Indian regulatory entity called
TRAI?

Options:

1. = Transportation Regulatory Authority of India
2. v Telecom Regulatory Authority of India

3. #» Traffic Regulatory Authority of India

4. = Tariff Regulatory Authority of India

Question Number : 55 Question Id : 5096479273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRA| oITHe AR ol aTAs §€AT T [ A1H AT §7

1. « ghediEET R siREr s $ha
2. v et Yl s st SR
3.« ifte YRt sreiRET sifm $hear




4.« ¥R WA SRS 3w g

Question Number : 56 Question Id : 5096479274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In 1947, India appointed her 7-member Constitution Drafting
Committee. Who among those listed below was NOT a part of
that committee?

Options:

1. = N. Gopalaswami

2. » K. M. Munshi

3. v V. K. Krishna Menon
4. = D. P. Khaitan

Question Number : 56 Question Id : 5096479274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1947 #, HRT o 39aT 7-Hed T giagra Adier gfafa &r
foagiera 1| feieaifelad & e 30 @fAfd 1 fewam s6r ar?

Options:

1. = Uel. IMYTeTEATAT
2. » &, UHA. Jqel
S.JEﬁ.a?.TfGUTﬁ?I?I'
4, = 3BT 9T, =TT

Question Number : 57 Question Id : 5096479275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the key thrust of the commission set up by the
Government of India in 1964 called the Kothari Commaission?

Options:

1. = Banking Privatisation reforms
2. * Hindu marriage act reforms
3. » Land ownership reforms



4. v Educational reforms

Question Number : 57 Question Id : 5096479275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1964 H SIGRT 3R—NT & ATH § Slla Slel dlel AT TR
ZART IS 3ANRT T &I SN Aetfalfdd & @ fohds 3w
q7?

Options:

1. = dfeRar fasiientor gur
2.&1%’2;\%61‘531@%‘&?3&@
3. = o7 TaIffAcT Fur

4. v Af8F FUR

Question Number : 58 Question Id : 5096479276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among these categories of offenders get defined in
Section 310 of The Indian Penal Code (IPC 310)?

Options:

1. = Prostitute

2. » Rapist

3. = Drug Peddler
4. v Thug

Question Number : 58 Question Id : 5096479276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OTTEAT T AFAToiEd AR # @ &id ARG 28 gigdn
(IPC 310) 1 oRT 310 & gRensa &7

Options:

1. % IUTIT

2. % FollcehNl



3. = oTeflell garsdr < fashar
4, v &I

Question Number : 59 Question Id : 5096479277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two types of cards are used in football matches to discipline
players for various misconducts that they indulge during the
game. Which are those cards?

Options:

1. » Green and red cards
2. » White and black cards
3. v Yellow and red cards
4. = Blue and pink cards

Question Number : 59 Question Id : 5096479277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faffiest TR o FemRy & 9fd TEanfsal 1 eenfad wie &
fow GeaTer #al & & TR & F8! &1 3uAeT BRar S g,
o0 o Tear & ST onflHe Fa &1 & e Siag T &7

Options:

1. = g 3T & F18
2. = g 31T el FI8
3. v Urel 3R ofter *18
4. = STl 3 IS FIS

Question Number : 60 Question Id : 5096479278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin Tendulkar hit his 100th international century against
which among the following team?

Options:

1. v Bangladesh



2.« Sri Lanka
3. » Pakistan
4. = South Africa

Question Number : 60 Question Id : 5096479278 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

|l dgelehy o 39« 100aT HRTSE ordsh fohe &\ &

TH=eTs ST 2r?

Options:

1. v SIelaer
2. = Helehl
3. % UTfchedTd
4

. % ETEUT 3TThTeRT

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:
IsthisGroup for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions;

Number of Questionsto be attempted:
Section Marks:

General Awareness2

4
509647165
0

0

No

No

0

20

No

Yes

0

0

General Awareness?

509647325
1

Online
Mandatory
20

20

20



Sub-Section Number: 1
Sub-Section I1d: 509647469
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5096479279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Conchita Martinez and Arantxa Sanchez are two legendary
lady tennis stars representing which country?

Options:

1. = France

2. v Spain

3. = Portugal

4. » Netherlands

Question Number : 61 Question Id : 5096479279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Alfcas 3T 3Ter g & fgerer Afger g &R &
| IE el TaFarerad # & rg or &1 wiafafaaa s=ar §7

Options:

1. = W
2. v T
3. = GclaIel
4, = selels

Question Number : 62 Question Id : 5096479280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state of India would you find the Hadimba Temple?

Options:

1. * Kerala
2. v Himachal Pradesh
3. = Tamil Nadu




4, = Assam

Question Number : 62 Question Id : 5096479280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfersT AR 9RT & earoid g O 7 &g &7

Options:

1. = el
2_J%W€IT»|'WT
3. = AffeaTg
4. % 3EA

Question Number : 63 Question Id : 5096479281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of Indian art and craft, which of these
categories Is represented by the word ‘dhurrie’

Options:

1. v Blankets, carpets, rugs
2. » Metal wall hangings

3. = Decorative pottery work
4. = 01l paintings in canvas

Question Number : 63 Question Id : 5096479281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Fell 3N Qe & Feel 7 il oo g@mT etz
# 4 Rra Aol 1 gefar a=r &2

Options:

1. v heel, hTelleT, el

2. * QAN W YT T Acehel

3. * Hol@el TAET & ScIall T wTH
4, = Shelard H 3Tl U




Question Number : 64 Question Id : 5096479282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which Indian state is the town Paithan, the home to the
famous line of Paithani sarees?

Options:

1. = West Bengal
2. = Odisha
3. = Gujarat
4. v Maharashtra

Question Number : 64 Question Id : 5096479282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YodT HISAT T UG S 8L U0, IRT & Tdedleliad
orE T H g &7

Options:

1. = UlRTHA STl
2. » 3fgem
3. * TeNId
4. v HAGNISE

Question Number : 65 Question Id : 5096479283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The renowned Golden Throne {(also known as Chinnada
Simhasana or Ratna Simhasana) is the throne of which of
these royal dynasties?

Options:

1. v Wodiyar Dynasty Mysore

2. = Travancore Dynasty Kerala
3. » Holkar Dynasty Indore
4. = Scindia Dynasty Gwalior



Question Number : 65 Question Id : 5096479283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yae TauT Rgae (o Rieeer e a1 Icad eed &
ATH & AT AT ST 8), S8 & g el UsIaer w1 Weded
&7

Options:

1. v AEIR Teiaer HYY
2. = FATGUMRIT TSTGL el
3. = Blelhy {roldel Al

4. « TAMIT Tt sarfery

Question Number : 66 Question Id : 5096479284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the town that is the winter capital of Himachal Pradesh.

Options:

1. = Champa

2. » Manali
3. v Dharamshala
4, » Mandi

Question Number : 66 Question Id : 5096479284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT =&d H & i TBHS U2l Sl eiidehlolle JoTeTar §7

Options:

1. = 9T
2. = FHaATAT
3. v gHeITeT
4, = HIY

Question Number : 67 Question Id : 5096479285 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Of the four mountain passes given below, one of them is in
Rajasthan in the Aravalli mountain range. Which is that
mountain pass?

Options:

1. *= Malshej Ghat Pass
2. = Nane Ghat Pass
3. v Haldighati Pass
4. = Aryankavu Pass

Question Number : 67 Question Id : 5096479285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A BT 17 ) 9ddT ¥ # & Sl a1 v T TSI A
3T qad AEer # feud g7

Options:

1. % HTelelsT 1€ &40
2. = ATl OIE &0

3. v Beodrer &1
4. = 3MFaiehg &3

Question Number : 68 Question Id : 5096479286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The possibility of existing shareholders of a company being
allowed to purchase additional shares in proportion to their
existing holdings is known as:

Options:

1. ¥ Rights issue
2. » Bonus issue
3. = Debentures
4. » Preference shares



Question Number : 68 Question Id : 5096479286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh shUell o HAlSal AILUNRT HT HHTTAT I Selehl Hi[al
BITesad o 3t A 3faferd R wdiest 1 3wt &r e
g, 39 fefolf@a 7 O ovg &9 & ST 1T 87

Options:

1. v 3YFRIE gHE]
2. = Mad foarda

3. = FOTIA

4, = TAATT 37eT

Question Number : 69 Question Id : 5096479287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Till recently, the health drink Horlicks was a GlaxoSmithkline
(GSK) brand. After a recent acquisition, which company owns
the Horlicks brand today?

Options:

1. = Patanjali

2. v Hindustan Unilever
3. = Nestle

4. = Dabur

Question Number : 69 Question Id : 5096479287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAdHATT GHAT deh, 2o 3 Bilolad Udh ToladdITHAASA
(Shroas) s T & &Y & s & g, gifeerd g T
T HcT 3T [ohT Fa«T & 919 &7

Options:

1. % gdollel
2.#%@?3@@&




3. = ai¥el (Nestle)
4, = IET

Question Number : 70 Question Id : 5096479288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the Indian jurist and economist who wrote the best
seller book called "We, the Nation: the Lost Decades'?

Options:

1. » Amartya Sen

2. v Nani Palkhivala

3. * Ramachandra Guha
4. » Romilla Thapar

Question Number : 70 Question Id : 5096479288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 ARAT A AT JTMET T 977 F47 § o9a 9l §
ALl g olee [Shgd ATA® FOAtS fashdl TEde (g ¥ HeR
§oh) Tord@r?

B
Options:

1. % 3TAY Tl
2. v dTal UTel@IaTell
3. = UAIG g

4. » QET AT

Question Number : 71 Question Id : 5096479289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the medical name given to the flat triangular bone at
the back of the shoulder?

Options:

1. = Sternum

2. v Scapula



3. » Mandible
4. = Carpal

Question Number : 71 Question Id : 5096479289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rifrcar & g A 9 & T Foic FHoiT 337 +r
farafeaa & & sia @1 a7 f&ar Jar 82

Options:

1. = VA
2. v ThTe
3. = Hieged
4. = HIdel

Question Number : 72 Question Id : 5096479290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vsiad goor a7 & i@ e a3 7 vRg &7

Options:

1. v TTNeTemeT

2.&@2@-‘%‘:@
3. = TTATO e
4.

% ATRI-TaATe (Frersi)

Question Number : 72 Question Id : 5096479290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which area of science is Edwin Hubble famous?

Options:

1. v Astronomy

2. = Microbiology
3. » Atomic physics
4. = Neurology



Question Number : 73 Question Id : 5096479291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the scientist who formulated the heat theorem, known
as the third law of thermodynamics, which earned him the
1920 Nobel Prize for Chemistry?

Options:

1. = Arthur Eddington
2. v Walther Nernst

3. » Henry Norris Russel
4. » Plerre Duhem

Question Number : 73 Question Id : 5096479291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SSAT UAT I FTAVAERT & arad @7 & 9 H AT SAdr gl

S8 Salal dlel 38 dAlleleh 1 FAT o0 & o1 T 9 AT
& IT 1920 T A& T T §31T AT?
0

Options:

1. = 39 vfgaresT
2. v GTe2¥ delec

3. ® BeWI alId IHel
4. = T 38H

Question Number : 74 Question Id : 5096479292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the scientist whose path breaking sea voyages in the
ship HMS Beagle led to his famous and enduring scientific
discoveries?

Options:

1. = Michael Faraday
2. = Benjamin Franklin



3. v Charles Darwin
4, = Richard Owen

Question Number : 74 Question Id : 5096479292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d & @ 38 dAfash F1 F37 777 § S8 qaa
STeTsT HMS S1aTel SaRT FHAT TEAT R Fstall 38T g 3T
TR gaATfeer =et Fr 3T o T8?

Options:

1. = HIShol WIS
2. % Soll[Hel thenfelal
3. v ATed SIae

4. = RTg 3Naa

Question Number : 75 Question Id : 5096479293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In research methodology, what is the name given to the
sampling technique where current research participants
themselves recruit other participants for a test or study?

Options:

1. = Multi-stage sampling

2. » Cluster sampling

3. v Snowball sampling

4. = Stratified random sampling

Question Number : 75 Question Id : 5096479293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oMy 9T H 39 dHaT / Huleler deheileh 1 AT aATH fam a1am
S, STel gadTel oy Uiaemelr Tag foRaT T{IeTor a7 3/edde &
forT 37e Ul &t ofdl e &7

Options:




x Fecl - T Aufeldl
x Foleed HYfeldT
Talldier Gufelar

x TEETHIZS Y5 Hufeldr

Question Number : 76 Question Id : 5096479294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A chance meeting between two great Indians, Jamsetji Tata
and Swami Vivekananda, abroad a ship to America led to the
creation of one of the iconic research institutions. It is now
known by which name?

Options:

1. = Tata Institute of Fundamental Research, Mumbai

ol
<

2. *= Bhabha Atomic Research Center, Mumbai
3. v Indian Institute of Science, Bangalore
4. = Tata Institute of Social Sciences, Mumbal

Question Number : 76 Question Id : 5096479294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T 3T ATal gTel S8 H &l AGT ARG, THAEST
greT 3 TardAT [Aadeg & 3T [Helel W T Uiaisad
AT TEUT ] %?q‘rUTEtaiTl g GTAT I 3T ThT ATH
ﬁoﬂaﬂ ST &7

Options:

1. » 2T SEEICYE 3 FeHcd REw, #Aus
2. = SITAT UTATU] LT ohet, A
3. v Ef3uer SEcge A |ed, ST

4. = TET FEITIS 3 Frerd qEd, CE




Question Number : 77 Question Id : 5096479295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In research methodology, an open interview is
simultaneously conducted with a small group of people to
explore ideas on a particular topic. This uncovers additional
information through participants’ exchange of ideas. What
this type of group is called?

Options:

1. = Delphi Group
2. v Focus Group
3. = Oracle Group
4. = Value group

Question Number : 77 Question Id : 5096479295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

steraaTe Tafa &, ey ey fawr o et @ gar oeme &%
fov ok DI @ THE & Y U Tl Taflcsh ToRAT ST §
g Ui & TTRT & e - Wi & ATeH & MO eFd
STTeThRT T 39PN TAT &1 8 YhR & HHG I FAT Fal
ST 87

Options:

1. = Sohr ¥Ag
2. v BInd THG
3. » 3ol THE

4. = deg HHZ

Question Number : 78 Question Id : 5096479296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarters of the Maintenance Command of
the Indian Air Force?

Options:



1. » Mumbal

2. » Trivandrum
3. v Nagpur

4. = Colmbatore

Question Number : 78 Question Id : 5096479296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HART g 4T F TEREE /| AT FHTE <Rl RRIER FET W

e &7

Options:

1.%3@-@1'%
2. = BFgeH

3. v ST
4. = FEI

Question Number : 79 Question Id : 5096479297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarters of the Eastern Naval Command of
the Indian Navy?

Options:

1. v Visakhapatnam
2. » Kolkata

3. = Haldia

4. » Kakinada

Question Number : 79 Question Id : 5096479297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AT & gl Gl FATS FT AT T Fgl 9T T g7

Options:

1. v BemEmean




2. % ShlelehTdl

3. = gleadr

4. % SRThITS]

Question Number : 80 Question Id : 5096479298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these towns / cities in Karnataka has an Indian
Institution of Technology (IIT)?

Options:

1. = Udupi
2. = Belgaum

3. » Mangalore
4. v Dharwad

Question Number : 80 Question Id : 5096479298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Faliceh o Teldaiolidd [oh &L H ARCIT WigaEehr Femd
(IT) &7

Options:

1.w3§tﬁ
2. % SoldlTH
3. % HITAR

4. v GdIs
Arithmetic Ability1
Group Number : 5
Group ld: 509647166
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1

Section Id : 509647326

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647470
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5096479299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify:;
1 1
2+ ‘V{E_i_ 2+~E+ 242
Options:

1. = 2V2

2. % 2412

3. v 4+42

4, % 4=V2

Question Number : 81 Question Id : 5096479299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T ATET THEI0T &7 FTEeIUT HiTAT;

2++/2+ L 5. 4
BN il .

Options:

1. % 242

2w 2+42

3. v 4+12

4. « 42

Question Number : 82 Question Id : 5096479300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 2 .
If WY _ WX then the value of ¥ in terms of y and z only is:
'_t,.'2+z2 vz w—x
Options:
YV—Z
_I_ e I
1. » — y+z

2. G
—z\ 2
3.0% GE)
vtz

4 v —y-z

Question Number : 82 Question Id : 5096479300 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

u.%w2+xz=g gsfabl', :ij HWW}#B—?‘TZ#W#W

},2_'_22

Options:

iE

3 % CE)

vtz
4. v —y-z

Question Number : 83 Question Id : 5096479301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfVx— /y=1andvx+ [y =17, then /xy equals:

Options:
1. = 51

? % 16

3. % V17

4 & 72

Question Number : 83 Question Id : 5096479301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IE Vx—Jy=1 @M Vx+ fy=17 & &, Jxy e & I gem:

Options:



Question Number : 84 Question Id : 5096479302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The highest score in an innings was 2/9 of the total score, and the next highest was 2/9 of the remainder. These scores

differed by 8 runs. Then the total score in the innings is:
Options:
1. = 138

7 % 181

3 v 162

A % 186

Question Number : 84 Question Id : 5096479302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh G H FTadHA TN Fol TR #1 2/9 o, AN 3T FTaaA TR AW F 2/9 ol 34 g TR A
8 T T AW oT| SF 9 # T4 FoT TP &N I0AT HITAT:

Options:

1. % 138




Question Number : 85 Question Id : 5096479303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

(0.30)2+(0.05)2+(0.035)
(0.030)2+ (0.005)2+ (0.0035)2

Options:
1. « 100

3. % 60

4 = 30

Question Number : 85 Question Id : 5096479303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HodTohe =T

(0.30)2+(0.05)%+(0.035)%
(0.030)2+ (0.005)2+ (0.0035)2

Options:



1. « 100

2 = 75
3. = 60
4 = b0

Question Number : 86 Question Id : 5096479304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

(0.15)2+(0.028)°  (0.28)%*+(0.47)3*—(0.75)3

(0.45)2+(0.084)2 3(0.28)(0.47)(0.75)
Options:

1. & 25

Question Number : 86 Question Id : 5096479304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HedTehed hIT=1T:

(0.15)% + (0.028)2 (0.28)% + (0.47)3 — (0.75)3
(0.45)2 + (0.084)2  3(0.28)(0.47)(0.75)

Options:

1. = 25
10

2. ¢

Question Number : 87 Question Id : 5096479305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If\f ¥0.000001 X a = 0.4 . then the value of a is:
Options:
1. « 4096

2 % 41,-"3

3. % 2%/

4 % 41;‘6

Question Number : 87 Question Id : 5096479305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe  30.000001 X @ = 04 %, a a F1 #7F g




Options:

1. « 4096
2. % 43
3. = 26
4, = 46

Question Number : 88 Question Id : 5096479306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A decimal fraction is multiplied by itself. If the product is 477.4225, then the fraction is:
Options:
1. = 18.65

? = 2275

3« 21.85

Question Number : 88 Question Id : 5096479306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U A e F ge § Ao R S gl g AR 477.4225 g, ar e e
Options:

1. = 1865




2 % 2275
3. v 2185

4. % 23.15

Question Number : 89 Question Id : 5096479307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

1 3 1 3 1 3 f2 1 2
2= Df—x—+—+—+—(——— Df—)
2 4 2 2 2 2 \3 2 3
Options:
7

1. = 25

Question Number : 89 Question Id : 5096479307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HodTohe hiTaT:
21f3x1_3+1_3(z 1 fﬂ
5 Sx P9 27 243 23

Options:



Question Number : 90 Question Id : 5096479308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Evaluate:

P =

25
325751050

Options:

1. % 0.80
? % 125
3 % 1.18

A« 1.70

HedTehad =T
1

2.5 — —

3.25 ——

0.75+0.50

Question Number : 90 Question Id : 5096479308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:



1. =« 0.80

2 « 125
3. % 1.18
4. ¢ 1.70

Question Number : 91 Question Id : 5096479309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the least number that leaves the remainder 6 every time it is divided by 27, 35, 45 and 497

Options:
1. « 6621

7 % 6405

3. = 6211

A % 6425

Question Number : 91 Question Id : 5096479309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fa=faf@T 7 @ #i7 O a8 o ¥ o @& § S 27, 35, 45 3T 49 ¥ RFafeg e W et a1
6 T AT TIEAT 27

Options:

1. v 6621



2 % 6405

3.« 6211

4. % 6425

Question Number : 92 Question Id : 5096479310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the greatest number that will divide 148, 246 and 623 leaving the remainder 4, 6 and 11
respectively?

Options:

1. = 16

7w 24

3. v 12

4 = 18

Question Number : 92 Question Id : 5096479310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f=aflT & ¥ &7 O 92 937 & 927 T&aT § ST 148, 246 3T 623 #r Funfag &7 A 4, 6 R
11 =7 99 BT 872

Options:

1. = 16



3 v 12

Question Number : 93 Question Id : 5096479311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the greatest number of three digits which, when added to 45, is exactly divisible by 6. 8, 127
Options:
1. = 980

7 % 963

3.« 987

4. % 984

Question Number : 93 Question Id : 5096479311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ffof@a & & i o ag & 306 & Fa0 95 gEar g, S 45 A A3 A W6, 8, 12 F T
fems 2 s &2

Options:
1. = 980
2 % 963

3. v 987



4. % 984

Question Number : 94 Question Id : 5096479312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The sum of sharesof A, B.Cand D isRs5. 6300. IfA:B=2:3:B:C=4:5and C: D=3 :7; then B's share is:

Options:
1. v Rs. 1080

? % Rs.720
3 % Rs. 1350

A. % Rs.3150

Question Number : 94 Question Id : 5096479312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B, C 3R D & f&&at &7 For 2T % 6300 ¥
T A:B=2:33B:C=4:53TC:D=3:7 gdrB = fgxar g=m

Options:

1. v T9F 1080
2 % U 720
3 % TIF 1350

4. % TI¥ 3150



Question Number : 95 Question Id : 5096479313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person distributes his pens among four friends A, B, C and D in the ratio —: :— . Then the minimum number of

W
&=

1
. -

|

pens that a person could have are:

Options:

1. =

.
L¥¥]

=

L

2.

3. % 48

Question Number : 95 Question Id : 5096479313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W@%WWMA, B,CSﬂTD#W;:i:é:
& ey v cfET = wfowar Faa o= B =g B2

& FFuTa # 9 faafa ar g1 e Y

1
6

Options:

1. = B3
2. v 57
3w 48
4. = 62

Question Number : 96 Question Id : 5096479314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If2 % % of the weight of a television stand is 0.2 kg, then what will be 120% of it?

Options:



3 o 96keg

] » 6.6kg

Question Number : 96 Question Id : 5096479314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oM v TS TE5 F T 1 22% 0.2 kg &, T A 120% Freerm grem?

Options:
1« 838 kg
2 % 9.2kg
3 o 9.6 kg
4w 6.6 kg

Question Number : 97 Question Id : 5096479315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If the price of one kg of sugar is increased by 25%, the increase is Rs. 10. Then the new price of the sugar (per kg) is:

Options:
1. = 40



Question Number : 97 Question Id : 5096479315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Tk kg e F FrEat A 25% Hr g T 10 F IR F T @ &1 G B Fr 7% Fog @y
kg) M

Options:

1. = 40
2 = 30
3. v 50
4. = 45

Question Number : 98 Question Id : 5096479316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh T HT ST H 10% TR AT g1 FHH &ITBe fehcdel Fied T2

Options:

1. v 21%

2 % 11%



3. % 18%

4. % 32%

Question Number : 98 Question Id : 5096479316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The side of a square increases by 10%. Then by what percentage does its area increase?
Options:
1. ¢ 21%

7 % 11%

3 % 18%

A % 32%

Question Number : 99 Question Id : 5096479317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The average age of X and Y is 20 years. If Z were to replace X, the average would be 19. If Z were to replace Y, the

average would be 21. Then the ages of X, Y and Z (in years), respectively, are:
Options:
1. « 22,18, 20

9w 24,20,22

3 % 20,16, 18

4 = 23,1921



Question Number : 99 Question Id : 5096479317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

XY FAmg g W g aR ZX srvormia sar g, S dima o s g ax z Y
# Sfaenfg #ar 8, & 78 iaa 21 & sar 81 X, Y 3R Z & a3y (3t A) FA '

Options:

1 » 22,18, 20

D % 24,20, 22

3 % 20, 16, 18

4« 23,19, 21

Question Number : 100 Question Id : 5096479318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The total runs scored by a batsman just before the last match of the season is 630. In the last match of the season, he
could not open his account and thereby his average dropped by 3. Then his average runs for the entire season is:
Options:

1. = 40

2.v 42

3. % 415

A % 435

Question Number : 100 Question Id : 5096479318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



== & NPT A7 T g FUr soEr @R §ATC 7T & Fr gEa 630 F @9 F wfad Ay
IF FooaTsl FUAT WIaT FE el el AT TRUTAESET 3HF A0S F7 3 FH 1 9147 g1 Tooarss & T
==t & A\g : o= =X

Options:

1. = 40

2. v 42

3 % 415

4. = 435

Arithmetic Ability2

Group Number : 6

Group Id: 509647167

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithmetic Ability2

Section Id : 509647327
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 509647471
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 5096479319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A man sold two wooden chairs for Rs. 4800 each. On one chair he gained 25%, and on the other chair he lost 20%.

Then how much percentage (correct up to two decimals) he gained or lost in these transactions?
Options:
1. v 2.44%loss

2 % 2.22% gain

4. = 1.85% gain

Question Number : 101 Question Id : 5096479319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ue Tled 7 d@s H ar Hedr T98 4800 Wi FHE F FEw & = 3@ ve FEf W 25% & AT SR
Wﬁwzo%#gﬁgﬁwmﬁmﬁrﬁ?ﬁﬁmwmqﬁamgﬁﬁmﬁ
(EAHTT & & TS ) |

Options:

1 o 2.44% @

72 ow 222% ®H

3 % 1.75% Fifer

4. % 1.85% =msT



Question Number : 102 Question Id : 5096479320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A person purchases 90 time pieces and sells 40 time pieces for a gain of 10% and 50 time pieces for a gain of 20%. If he

were to sell all of them at a uniform profit of 15%, then he would have got Rs. 40 less. The cost price of each time piece
is:

Options:

1. % Rs.90

o
b
4
L
=

A. % Rs.60

Question Number : 102 Question Id : 5096479320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T =Oea 90 uftwr @iear ¥ it 39F ¥ 40 ufRTt Fr 10% ey 9T g 50 ufEdt # 20% T W
I ST 21 T I Tt ufSdl @7 15% & UREAT o 9T S=dT af 306 ofd H 937 40 & FAT @
ST g2 S Fr Frag FJa A

Options:
1. % %9 90
2. v T 80
3. % TIF 50
4. = TIH 60

Question Number : 103 Question Id : 5096479321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A trader purchased 180 boxes of apples at Rs. 900 per box. He sold 70 boxes at 20%b profit and 50 boxes at 6% loss. At
what rate per box should the remainder be sold so as to gain 9% on the whole transaction?

Options:

1. = Rs. 969 per box

? % Rs. 983 per box

3 x Rs. 936 perbox

4. » Rs. 978 per box

Question Number : 103 Question 1d : 5096479321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T A9 & O v 180 ufeam 9 900 9 U & fgmw @ @widn 3@« 70 ufeat & 20% & ¥
ﬁsoﬁﬁﬁﬁfi%aﬁrwﬂaﬁml?mﬁe%mgﬁrmmm#ﬁmaﬁ?ﬁﬁﬁﬁ
w27 9T s=7 e =fge?

Options:

1.« TI% 969 wfy 98

2 x TO¥ 983 gfa w@r

3 » O 936 9iF 9

A o T 978 9T 9

Question Number : 104 Question Id : 5096479322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper offers 15% discount on all children toys. He offers a further discount of 4% on the reduced price to those
customers who pay cash. What does a customer have to pay in cash for a toy of price Rs. 5007

Options:



1. % Rs.436

7« Rs.408

3 % Rs. 463

A % Rs. 432

Question Number : 104 Question Id : 5096479322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U gFeer Tt fEEler 9T 15% & 9 ST 31 SHS AT ¢ Fehg s e el AEH H 4%
ﬁﬁﬁﬁﬂ?;ﬁ'gﬁlﬁm%lWBDO%WWW#%d$qﬁﬁHdMWWW
AgF HI Tl sFETATT FIAT grRm?

Options:
1. % 9 436
2. v TIX 408
3.« TIF 463
4. % TIF 432

Question Number : 105 Question Id : 5096479323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
A trader offers his customers 20% discount and still makes a profit of 26%. What is the actual cost to him of an article

marked Rs. 3157
Options:

1. % Rs.225



3« Rs.200

Question Number : 105 Question Id : 5096479323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TATIRT 3794 agent 1 20% HT P a1 § AR T off 26% i oy FaATar g1 T9F 315 3ifhd Jod
el TE] N AEAEH SR Hed A B

Options:
1. = TIH 225
2. % T 235
3. v T 200
4. % T 250

Question Number : 106 Question Id : 5096479324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At what rate of simple interest per annum will a sum double itself in 8 years?
Options:
1. = 13.5%

7 % 10.5%



3. ¢ 12.5%

A = 11.5%

Question Number : 106 Question Id : 5096479324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farae widera AremaT \TRoT SA @Y & & 8 Fut A Ul SR @ SmeEh?

Options:
1. = 13.5%
2 % 10.5%

3. v 125%

4. » 11.5%

Question Number : 107 Question Id : 5096479325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What annual installment (per vear) will discharge a debt of Rs. 4800 due in 5 years at 10% simple interest?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Rs. 600

2 Rs. 700

3. Rs. 1200



4. Rs.900

Question Number : 107 Question Id : 5096479325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10% HUROT 01 X 5 A & forw fow a1v 392 4800 % 07 o= & fow @it frea (X @men) &1
IUTAT FH|

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:
1. %9 600
D T 700
3. TIF 1200
4. TIF 900

Question Number : 108 Question Id : 5096479326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man borrowed Rs. 3000 total from two moneylenders. For one loan, he paid 4% p.a. and. for the other, he paid 7%
p.a. The total interest paid for two years was Rs. 270. How much did he borrow at 4%?

Options:
1. ¥ Rs. 2500

3. % Rs. 2250



Question Number : 108 Question 1d : 5096479326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF ShfFd & & TEERT § T 3000 F F FoF oA TF F F A0 3TA 4% Frewar HX gy F
T 7% wremar ST e § ;S F S AT I A FeAl A 3FA T T94 270 F A F T
# spra faRa| 3E 4% #Fr X W Fhaer 3ur o ar?

Options:
1. v T9& 2500
2 % ¥ 1875
3. % TIF 2250
4. % T 2750

Question Number : 109 Question Id : 5096479327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Rs. 15470 is divided between David and Mishra such that the amount of David’s share after five years at the rate of 10%

— compounded annually — will be equal to that of Mishra’s share at the end of three years at 10% rate of interest —

compounded annually. Find the share of David.
Options:
1. ¥ Rs. 7000

A % Rs.6500

Question Number : 109 Question Id : 5096479327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T I BT R sdoss R RS o T s s =
10% Fr 2T 9T Fo\@F T T =T AT AT ¢, 5 Ter & e &Fer &3 W g ufe, &er + =
Fr 10% Fr 2T 9T forgH & T =01 ST A0 8, 3 Tt & @ @9 39 9% geg iy F ey
2T 3T & = Fr v F

Options
1. v T 7000
2 % TIT 8470
3. % TI¥ 7500
4. % TIF¥ 6500

Question Number : 110 Question 1d : 5096479328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A certain sum of money lent at a certain rate of compound interest grows to 1.44 times its value in 2 vears. If the same

sum is lent at simple interest at the same rate, in how many years would it double itself?
Options:
1. = 4 years

? @ 5 years

REE" 6 years

4 = 8§ years

Question Number : 110 Question Id : 5096479328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THE = T TF AT aT W FUR @ T o= & 2 A€ F A@ua & 1.44 I @ ST ¢
TEr TR FAS &I W WUROT 0 X 39N & A1 g, af 98 hae aut 7 g 8t seef?



Options:

1. » 4 et &
2. v SWE A
3. % 6 @A
4. = 8 T A

Question Number : 111 Question Id : 5096479329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A rectangular path of length 20 m and breadth 18 m is to be bounded by a 2 m wide jogging track from outside. What
will be the area of the track?
Options:

1. = 182m?

2.« 168m?

3 % l6e2m’

4 % 174m?

Question Number : 111 Question Id : 5096479329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20 m a5 3R 18 m Fi=® ITer T UF HUIHR TY H GET A HR F 2 m =T FMEET &F F OB
FT &1 & T ST FT gem?

Options:

1. = 182 m?



7.« 188 m?

3w 162 m?

4 = 174 m?

Question Number : 112 Question 1d : 5096479330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The area of a trapezium-shaped field is 480 m®. The distance between two parallel sides is 15 m and one of the parallel
sides is 20 m. Then the length of the other parallel side is:

Options:
1. % 34m

? % 38m

3. % 4lm

4 v 44m

Question Number : 112 Question Id : 5096479330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ue HAGFND (SATATH) FAT A 480 m? F| FHET ol WATACGR 3T F I Hr gl 15 m g 3R
FATATGR 3T # § T &7 #a1s 20 m T GEY A o H a5 AT H
Options:

1. &« 34 m

2 % 38 m



3 % 41 m

4. v 44 m

Question Number : 113 Question Id : 5096479331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The two adjacent sides of a parallelogram are 12 m and 14 m respectively. If the diagonal connecting the ends is 22 m,

then the area of the parallelogram is (given 10 = 3.16):
Options:
1. % 160.72 m?

7 wx 14824 m?

3« 151.68 m?

4. = 158.18 m?

Question Number : 113 Question Id : 5096479331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FATH TGl 7 &7 WA =T AT 12 m AT 14 m g1 afg & &0 S amer Bt 22 m &,
a FATET TgES # awe g (fEr § V10 =3.16)

Options:

1. = 160.72 m?

7w 14824 m?®

3. « 151.68 m?



4 = 158.18 m?

Question Number : 114 Question Id : 5096479332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofe 8 Tew #R 12 Afga et vw w1 # 10 G F 9@ X wwa €, A 4 o 3k 4 afgenst @
3 FH P G A H fohaal &l &1 FAT T

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
1. 8
2. 10
3. 12
4. 14

Question Number : 114 Question Id : 5096479332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If 8 men and 12 women can finish a piece of work in 10 days, then the number of days required by 4 men and 4 women

to finish the same work is:
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. 8



4 14

Question Number : 115 Question Id : 5096479333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X works twice as fast as Y. If Y can complete a task in 12 days independently, then the number of days in which X and
Y can together finish the same task is:

Options:
1.« 4

4 = 12

Question Number : 115 Question Id : 5096479333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X, Y ¥ ST oo H HH Far gl TRY hel AW FA A 12 A A @ A wFar g, A X AR Y
F TH T FHEE 38 & F U = A has A # gHy w@Em

Options:

1. v 4

2. x 6



Question Number : 116 Question Id : 5096479334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A train starts from X to Y, and another train from Y to X at the same time. After crossing each other, they complete their

journey in 351 and 2% hours respectively. If the speed of the first train is 60 kmph, then the speed of the second train is:

Options:
1. % 80 kmph

2 % 60 kmph

3  70kmph

4. = 50kmph

Question Number : 116 Question Id : 5096479334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH T X WY TF, 3R gEY I 3 AT Y F X T A HET YE Bl g1 Th GAE B OGR F B

g, ¥ & FAW 3 qUT 226 I A O F o §1 ;G wgen &7 v aifr 60 kmph §, A g@dr
&= Fr ooy g

Options:

1. = 80 kmph

2 % 60 kmph

3. 70 kmph

A. = 90 kmph

Question Number : 117 Question 1d : 5096479335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A train passes a station platform in 36 seconds and a man standing on the platform in 20 seconds. If the speed of the
train is 54 kmph, then the length of the platform is:

Options:

1. = 300m

? « 240m

3 % 180m

4 = 120m

Question Number : 117 Question Id : 5096479335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 3F O Rud X A toewiE # IR # H 36 Tehs R s Al AaE #r 9R a7 20
TFE FT AT oar g1 afg e Fr a1f7 54 kmph g, a7 woewiE Fr 95

Options:
1. % 300 m
2 o 240 m
3. % 180 m
4. = 120 m

Question Number : 118 Question Id : 5096479336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A ftrain, after travelling 50 km, meets with repair due to engine problem. It then proceeds at 4/5 of its former speed and

arrives at the terminal 45 minutes late. Had the repair happened 20 km further on, it would have arrived 12 minutes
sooner. Then the speed of the train and the distance travelled by it, respectively, are:

Options:



1. % 25 kmph, 75 km

2 25kmph, 125 ki

3 % 30kmph, 120 km

A, % 35 kmph, 140 km

Question Number : 118 Question Id : 5096479336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF 37 #, 50 km FT T &F 91E, S F THAEA F FRUT AFAT FIEAT 9547 &1 5H FROT T I
el gger d A & 4/5 Afy F TEH ¥ AR e w45 fwe T & g 81 3R A 20 km
T T S, & A 12 Bee Sedl g S o & # A AR 3HS GAR 9 O gll, A &

Options:

1. = 25 kmph, 75 km

5 25 kmph, 125 km

3. % 30 kmph, 120 km

A » 35 kmph, 140 km

Question Number : 119 Question Id : 5096479337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table shows the number of candidates appeared and qualified in a competitive examination from different

states over the years.

Year

State 2014 2015 2016 2017 2018
App.| Qual. App. Qual App.i Qual. | App. Qual.| App. | Qual

M | 5200| 720 | B500| 980 | 7400 B50 |6BOO| 775 9500 1125

N | 7500| 840 |9200| 1050 | 8450 | 920 |S200 580 | SB00 1020

P |6400| 780 |8800| 1020|7800 | 890 | 8750 1010 | 9750 1250

Q | 8100( 950 |9500| 1240 | 8700 | 980 | 9700 1200 | 8950 995

R |7800| 870 |7600| 940 |9800| 1350 | 7600 | 545 7590 885

Combining the states P and Q together in 2015, what is the percentage of the candidates qualified to that of the
candidate appeared?

Options:

3 % 11.49%

A % 10.87%

Question Number : 119 Question Id : 5096479337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o & 7% tver F Rioo $o e F ftes et & s ofem F anr o T ik st e
Jrer TET ST HEAT AT T

7w | 2014 2015 2016 2017 2018

#er | 3oy | wer | 3t | s | 3t | ser | et | s | 3

e (g |ee (g (e (€W |ew (g (o= g
arer drer

5200|720 |8500|980 |7400|850 |[6800|775 |9500(1125
7500|840 | 9200( 1050 | 8450|920 |[9200|980 |8800(1020
6400 | 780 | 8800|1020 | 7800|890 |[8&750| 1010 | 9750|1250
8100|950 | 9500|1240 (8700|980 |9700|1200 | 8950|995
7800|870 | 7600|940 |9800|1350 |7600|945 |7990|885

Do | P|E|=

2015 F P 3T Q U=l #1 TF @Y FART, 8T & Jrer 3EAGIRT H ¥ 3cdior g aTer 3FHIEaRy &
gfaRa A1d HI=w?

Options:

1. = 12.54%

2. ¢ 12.35%

3. % 11.49%

4. = 10.87%

Question Number : 120 Question Id : 5096479338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following graph shows the demand and production of five companies:

3500 3300
3000
2500
2000
1500
1000

500

B Demand M Production

The difference between the average demand and average production of the five companies taken together is:

Options:
1. = 138

7« 280

3. % 400

A % 1400

Question Number : 120 Question Id : 5096479338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁmﬁlﬁamqﬁéﬁtﬁﬁmaﬂimaﬁmhﬁ:
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Options:




1.« 138

2. v 280
3 % 400
4 % 1400
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Question Number : 121 Question Id : 5096479339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for
the given group of words.

Collection of weapons and military equipment

Options:

1. = battalion
2. » contingent
3. = horde

4. v arsenal

Question Number : 121 Question Id : 5096479339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute

for the given group of words.

Collection of weapons and military equipment

Options:

1. = battalion
2. % contingent

3. % horde

4. v arsenal

Question Number : 122 Question Id : 5096479340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best gives the meaning of the following
word.

Speleology

Options:



1. = Study of special metals
2. v Study of caves

3. = Study of species

4. = Study of spleens

Question Number : 122 Question Id : 5096479340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best gives the meaning of the

following word.

Speleology

Options:

1. = Study of special metals
2. v Study of caves

3. = Study of species

4. » Study of spleens

Question Number : 123 Question 1d : 5096479341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best gives the meaning of the
underlined idiomatic phrase.

She joined the election contest with all guns blazing.

Options:

1. ¥ She put in all her effort and energy in contesting the
election.

2. * She joined the election contest forcibly using her gun.
3. » She jumped into the election contest suddenly.
4. = She was too angry to join the election contest.



Question Number : 123 Question 1d : 5096479341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best gives the meaning of the

underlined idiomatic phrase.

She joined the election contest with all guns blazing.

Options:

1. v She put In all her effort and energy in contesting the

election.
2. = She joined the election contest forcibly using her gun.
3. = She jumped Into the election contest suddenly.

4. = She was too angry to join the election contest.

Question Number : 124 Question Id : 5096479342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

The civil liberties group and other critics said that internet
___would violate constitutional ___ of free speech and
_and put India in the same league as autocratic countries
like China and Russia.

Options:

1. = violations, right, business

2. = protections, membership, privacy
3. v censorship, protections, privacy
4. = censorship, views, rights

Question Number : 124 Question Id : 5096479342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option.

The civil liberties group and other critics said that internet
would violate constitutional of free speech
and and put India In the same league as autocratic

countries like China and Russia.

Options:

1. = violations, right, business

2. » protections, membership, privacy
3. v censorship, protections, privacy
4,

x censorship, views, rights

Question Number : 125 Question 1d : 5096479343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate phrasal verb.

The Chipko movement in the 70s a big change in
environmental activism.

Options:

1. * broke down

2. v brought about
3. = brought up
4. = checked out

Question Number : 125 Question 1d : 5096479343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate phrasal verb.

The Chipko movement in the /0s a big

change Iin environmental activism.

Options:

1. = broke down
2. v brought about
3. = brought up

4. = checked out

Question Number : 126 Question Id : 5096479344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following conditional sentence.

If the scientists had not correctly predicted the course of the
cyclone:

Options:

1. = they could have saved human lives.

2. = they cannot save more people.

3. = they would save more people.

4. v there would have been even worse damage to human
lives.

Question Number : 126 Question Id : 5096479344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following conditional sentence.

If the scientists had not correctly predicted the course of the

cyclone:



Options:

1. = they could have saved human lives.
2. = they cannot save more people.
3. = they would save more people.

4, v there would have been even worse damage to human

llves.

Question Number : 127 Question Id : 5096479345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given
options.

Options:

1. = Fossil fuels are non-renewable — this mean that nature
cannot recreate them as fast as people using them up today.

2. » Ram advised Ravi that he cannot go on to punish himself
for so long over something that wasn’t his fault.

3. » The project team members were all present this summer.
One of them have already took a vacation for three weeks.

4. v In our company all our employees have professional
degrees.

Question Number : 127 Question Id : 5096479345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given

options.

Options:

1. = Fossil fuels are non-renewable - this mean that nature

cannot recreate them as fast as people using them up today.



2. » Ram advised Ravi that he cannot go on to punish

himself for so long over something that wasnt his fault.

3. = The project team members were all present this
summer. One of them have already took a vacation for

three weeks.

4. ¢ In our company all our employees have professional

degrees.

Question Number : 128 Question Id : 5096479346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option ensuring
that the verbs correctly agree with the given subjects.

The questions of the rights of the national minorities and the
enforcement of the Land Act __ among the problems of the
day in the 1950s. The government still _ not devised any
new laws to solve these issues.

Options:

1. = was, have
2. v were, has
3. = were, have
4, = was, has

Question Number : 128 Question Id : 5096479346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option ensuring

that the verbs correctly agree with the given subjects.

The questions of the rights of the national minorities and
the enforcement of the Land Act among the
problems of the day in the 1950s. The government still

not devised any new laws to solve these Issues.

Options:

1. = was, have
2. v were, has
3. = were, have

4. = was, has

Question Number : 129 Question Id : 5096479347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following nouns with their respective adjectives.

Match the following nouns with their respective adjectives.

Adjectives Nouns

a) delicious i) accident

b) great if) journey

c) fatal iii) difficulty

d) beautiful iv) food
Options:

1. # a-ii, b- 1, ¢c-111, d-1v
2. % a-1l, b-iv, ¢, d-ii
3. v a-v, b-il, ¢, d-1i
4. = a-1ii, b, c-1i, d-1



Question Number : 129 Question 1d : 5096479347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following nouns with their respective adjectives.

Match the following nouns with their respective adjectives.

Adjectives Nouns

a) delicious i) accident

b) great i) journey

c¢) fatal iif) difficulty

d) beautiful iv) food
Options:

1. = a-ii, b- 1, c-i, d-Iv
2. = a-ll, b-iv, c-1, d-ii
3. ¢ a-lv, b-ii, c-1, d-ii

4. = a-li, b-1, c-1, d-I

Question Number : 130 Question Id : 5096479348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive
voice.

The rising temperature during this summer has scorched
Chennal.

Options:

1. = Chennali is scorched by the risen temperature this
summer.

2. v Chennai has been scorched by the rising temperature
during this summer.



3. » Chennal is being scorched by the rising temperature
during this summer.

4. = During this summer, Chennai has scorched by the rising
temperature.

Question Number : 130 Question Id : 5096479348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence In

passive voice.

The rising temperature during this summer has scorched

Chennal.

Options:

1. = Chennal I1s scorched by the risen temperature this

SUmmer.

2. v Chennal has been scorched by the rising temperature

during this summer.

3. » Chennal I1s being scorched by the rising temperature

during this summer.

4, = During this summer, Chennal has scorched by the

rising temperature.

Question Number : 131 Question Id : 5096479349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



There are two statements numbered I and II. There may be
cause and effect relationship between them. Or both might be
effects of some independent cause or independent causes.

Choose the appropriate option after reading the following two
statements:

I. The number of people suffering from lung-related diseases
has increased in the recent years.
II. There is a gradual increase in the crime rate in the city.

Options:

1. = Statement I is the cause and Statement II is the effect
2. = Statement II is the cause and Statement I is the effect

3. = Both statements are independent causes with inter
relation to each other.

4. v Both statements are independent causes with no relation
to each other

Question Number : 131 Question Id : 5096479349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



There are two statements numbered | and Il. There may be
cause and effect relationship between them. Or both might
be effects of some Independent cause or independent

CalUSeSs.

Choose the appropriate option after reading the following

two statements:

|. The number of people suffering from lung-related diseases
has Increased In the recent years.

Il. There i1s a gradual increase in the crime rate in the city.

Options:

1. = Statement | is the cause and Statement |l i1s the effect
2. = Statement |l 1s the cause and Statement | Is the effect

3. = Both statements are independent causes with Inter

relation to each other.

4. v Both statements are independent causes with no

relation to each other

Question Number : 132 Question Id : 5096479350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blank with the most appropriate option.

The sudden fall in the growth of the information technology
industry poor placement among engineering students.

Options:

1. = because of



2. v resulted In
3. = although
4. = inspite of

Question Number : 132 Question Id : 5096479350 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The sudden fall in the growth of the information technology

iIndustry poor placement among engineering students.

Options:

1. = because of
2. v resulted In
3. = although
4. = Inspite of

Question Number : 133 Question Id : 5096479351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported
speech.

Stephen HawKking said, “I would ask Einstein why he didn’t
believe in black holes”.

Options:

1. = Stephen Hawking responded that he will ask Einstein
why didn’t he believe in black holes.

2. » Stephen Hawking answered that he would ask Einstein
about his belief in black holes.



3. = Stephen Hawking said that he would have asked Einstein
about black holes.

4. v Stephen Hawking said that he would ask Einstein why he
had not believed in black holes.

Question Number : 133 Question Id : 5096479351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence In

reported speech.

Stephen Hawking said, “| would ask Einstein why he didn’t

believe in black holes”.

Options:

1. = Stephen Hawking responded that he will ask Einstein

why didnt he believe Iin black holes.

2. = Stephen Hawking answered that he would ask Einstein

about his belief in black holes.

3. = Stephen Hawking said that he would have asked

Einstein about black holes.

4, v Stephen Hawking said that he would ask Einstein why

he had not believed In black holes.

Question Number : 134 Question 1d : 5096479352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

The Taj Mahal is an architectural wonder. , It is the
largest generator of tourist money in the state.

Options:




1. » On the other hand
2. » In order to

3. v Furthermore

4. » Whereas

Question Number : 134 Question Id : 5096479352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

The Ta)] Mahal i1s an architectural wonder. , It

Is the largest generator of tourist money In the state.

Options:

1. = On the other hand
2. = |n order to

3. v Furthermore

4. « Whereas

Question Number : 135 Question 1d : 5096479353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

The reporters said that they would not leave the place
the Chairman tenders an apology for mistreating the press.

Options:

1. = as long as
2. v until

3. # so that

4, = if

Question Number : 135 Question 1d : 5096479353 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

The reporters said that they would not leave the place
the Chairman tenders an apology for mistreating the

press.

Options:

1. = as long as
2. v until

3. # so that

4. = if

Question Number : 136 Question Id : 5096479354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following four sentences is the order of the
words correct?

Options:

1. = For our holidays we are planning to go to Andaman.

2. » Their team will lose the match the children were worried.
3. = To go to our hometown this weekend we are planning.

4. v We will be travelling by flight for the rest of the journey.

Question Number : 136 Question Id : 5096479354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following four sentences is the order of the

words correct?

Options:

1. = For our holidays we are planning to go to Andaman.



2. % Their team will lose the match the children were

worried.
3. = To go to our hometown this weekend we are planning.

4. v We will be travelling by flight for the rest of the

journey.

Question Number : 137 Question Id : 5096479355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sentences of a paragraph are given below. While the first and
the last sentences are in correct order, the sentences in
between are jumbled up. Arrange the sentences in the right
order to form a meaningful and cocherent paragraph.

1. School is the first avenue of socialising for a child.

P. And familiarity is a breeding ground of stagnancy.

(. This instills sociable practices such as empathy, friendship,
participation and assistance, which turn out to be important
in their adulthood.

R. With schools, children are exposed not only to new ideas
but also to same aged compatriots.

S. Up till then, parents and immediate family members are
the only people the child has human interactions with.

6. Hence, it becomes essential to enroll the child in a good
school.

Options:

1. = PRSQ
2. v SPRQ
3. = QPRS
4. = SRQP



Question Number : 137 Question 1d : 5096479355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sentences of a paragraph are given below. While the first
and the last sentences are In correct order, the sentences
in between are jumbled up. Arrange the sentences In the

right order to form a meaningful and coherent paragraph.

1. School 1s the first avenue of socialising for a child.

P. And familiarty 1s a breeding ground of stagnancy.

Q. This Instills sociable practices such as empathy,
friendship, participation and assistance, which turn out to be
important in their adulthood.

R. With schools, children are exposed not only to new
iIdeas but also to same aged compatriots.

S. Up till then, parents and immediate family members are
the only people the child has human interactions with.

6. Hence, it becomes essential to enroll the child in a good

school.

Options:

1. = PRSQ
2. v SPRQ
3. * QPRS
4. = SRQP

Question Number : 138 Question Id : 5096479356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first and
the last sentences are in correct order, the sentences in
between are jumbled up. Arrange the sentences in the right
order to form a meaningful and coherent paragraph.

1. The Internet was the result of some visionary thinking by
people in the early 1960s who saw great potential value in
allowing computers to share information on research and
development in scientific and military fields.

P. Next Leonard Kleinrock of MIT and later UCLA developed
the theory of packet switching, which was to form the basis of
Internet connections.

(. ].C.R. Licklider of MIT first proposed a global network of
computers in 1962, and moved over to the Defense Advanced
Research Projects Agency (DARPA) in late 1962 to head the
work to develop it.

R. Later Roberts moved over to DARPA In 1966 and developed
his plan for ARPANET.

S. Lawrence Roberts of MIT connected a Massachusetts
computer with a California computer in 1965 over dial-up
telephone lines but it had issues in circuit switching,.

6. These visionaries and many more left unnamed here are
the real founders of the Internet.

Options:

1. v QPSR
2. = PRSQ
3. = SQRP
4. = QRSP

Question Number : 138 Question Id : 5096479356 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Sentences of a paragraph are given below. While the first
and the last sentences are In correct order, the sentences
in between are jumbled up. Arrange the sentences In the

right order to form a meaningful and coherent paragraph.

1. The Internet was the result of some visionary thinking by
people In the early 1960s who saw great potential value In
allowing computers to share information on research and
development in scientific and military fields.

P. Next Leonard Kleinrock of MIT and later UCLA
developed the theory of packet switching, which was to form
the basis of Internet connections.

Q. J.C.R. Licklider of MIT first proposed a global network of
computers In 1962, and moved over to the Defense
Advanced Research Projects Agency (DARPA) In late 1962
to head the work to develop It.

R. Later Roberts moved over to DARPA in 1966 and
developed his plan for ARPANET.

S. Lawrence Roberts of MIT connected a Massachusetts
computer with a California computer in 1965 over dial-up
telephone lines but 1t had issues In circuit switching.

6. These visionaries and many more left unnamed here are

the real founders of the Internet.

Options:



1. v QPSR
2. = PRSQ
3. = SQRP
4, = QRSP

Question Number : 139 Question Id : 5096479357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Prem Lal is quite rich he is not contented.

Options:

1. = although
2. v but

3. % 80

4. % hecause

Question Number : 139 Question Id : 5096479357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blank with the most appropriate option.

Prem Lal is quite rich he Is not contented.
Options:

1. = although

2. v but

3. ® SO

4. = because

Question Number : 140 Question Id : 5096479358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate idiom to fill in the blank.

Registering in a wrong course by chance turned out to be a
for her.

Options:

1. * making a long story short

2. v blessing in disguise

3. » killing two birds with one stone
4. = jumping on the bandwagon

Question Number : 140 Question Id : 5096479358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate idiom to fill in the blank.

Registering In a wrong course by chance turned out to be a

for her.

Options:

1. * making a long story short
2. v blessing In disguise
3. = killing two birds with one stone

4. = Jjumping on the bandwagon

General English?

Group Number : 8

Group Id: 509647169
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0
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Revisit allowed for group Instructions? : Yes
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Question Number : 141 Question Id : 5096479359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The volunteers were forced to admonish the revelers when
the noise level went too high.

Options:

1. = upset

2. ¢ Censure
3. = recommend
4. = overpower

Question Number : 141 Question Id : 5096479359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The volunteers were forced to admonish the revelers when

the noise level went too high.

Options:



1. = upset

2. v censure

3. ® recommend
4,

% overpower

Question Number : 142 Question Id : 5096479360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The physiotherapy sessions exhausted and debilitated my
grandmother.

Options:

1. = depressed
2. = angered

3. % nauseous
4. v attenuated

Question Number : 142 Question Id : 5096479360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The physiotherapy sessions exhausted and debilitated my

grandmother.

Options:

1. = depressed
2. * angered
3. ® nauseous

4. v attenuated



Question Number : 143 Question 1d : 5096479361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

My colleague was often accused of mendacity.

Options:

1. v prevarication

2. = veracity
3. = treachery
4. = persistence

Question Number : 143 Question Id : 5096479361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

My colleague was often accused of mendacity.

Options:

1. v prevarication

2. % veracity
3. = treachery
4, = persistence

Question Number : 144 Question 1d : 5096479362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

My friend has read a prodigious number of novels.

Options:

1. » infinitesimal
2. » horrible



3. # superb
4. v colossal

Question Number : 144 Question Id : 5096479362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

My friend has read a prodigious number of novels.

Options:

1. = Infinitesimal
2. = horrible
3. ® superb
4. v colossal

Question Number : 145 Question Id : 5096479363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

In today’s world, mobile phones have become the most
ubiquitous electronic gadgets.

Options:

1. = fashionable

2. = usable
3. * permissive
4. v omnipresent

Question Number : 145 Question Id : 5096479363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

In today’s world, mobile phones have become the most

ubiguitous electronic gadgets.

Options:

1. = fashionable
2. = usable
3. ® permissive

4. v omnipresent

Question Number : 146 Question Id : 5096479364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

The defending lawyer pointed out a glaring anomaly in the
evidence presented by the prosecution.

Options:

1. = difference

2. = abnormality
3. v conformity
4. = strength

Question Number : 146 Question Id : 5096479364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined

word.

The defending lawyer pointed out a glaring anomaly in the

evidence presented by the prosecution.

Options:

1. = difference
2. % abnormality
3. v conformity

4. = strength

Question Number : 147 Question Id : 5096479365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

OPAQUE

Options:

1. = rigid

2. v transparent
3. = obscure

4. = dense

Question Number : 147 Question 1d : 5096479365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

OPAQUE

Options:

1. = ngid



2. v transparent
3. = obscure

4. = dense

Question Number : 148 Question 1d : 5096479366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

The professional tennis player’s skin became desiccated when
he was stranded in his boat for more than three hours.

Options:

1. = embittered

2. = angered
3. v moistened
4. = blotchy

Question Number : 148 Question Id : 5096479366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

The professional tennis player's skin became desiccated

when he was stranded in his boat for more than three hours.

Options:

1. = embittered
2. * angered

3. ¥ moistened



4. = blotchy

Question Number : 149 Question Id : 5096479367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

PREVARICATE

Options:

1. v confront
2. = belie

3. » equivocate
4. = hedge

Question Number : 149 Question Id : 5096479367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

PREVARICATE

Options:

1. v confront
2. = belie
3. ® equivocate

4. = hedge

Question Number : 150 Question Id : 5096479368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

His desperation to get a good job precipitated him into action.

Options:




1. = triggered
2. v blocked
3. = pushed
4, = quite

Question Number : 150 Question Id : 5096479368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

His desperation to get a good job precipitated him into

action.

Options:

1. = triggered

2. v blocked

3. * pushed

4. = quite
Sub-Section Number: 2
Sub-Section |d: 509647474
Question Shuffling Allowed : Yes

Question Id : 5096479369 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

QQuestion Label : Comprehension



Read the passage and answer the questions that follow.

Businesses use the Internet for a variety of reasons. Some
businesses are virtual — they have no bricks and mortar
locations, and conduct all of their selling activities online.
Consumers love the convenience that the Internet provides —
we can shop at any hour and on any day. Most virtual
businesses are never closed. However, consumers also love
instant gratification — we want it now, or as soon as possible.
Many consumers are willing to pay more for speedy delivery
of their orders. Virtual businesses rely heavily on information
and transportation technology to get their goods and services
to consumers as quickly and efficiently as possible. The
process of delivering items to consumers is called fulfillment.

Amazon.com is one of the earliest and largest examples of
virtual retailers. People seek out these sites in order to buy
things. Amazon sells downloads of music and books at its site
for use in various electronic devices. Amazon also sells a wide
variety of physical objects for delivery to consumers’ homes.
It also acts as a fulfillment service for many other businesses.
These businesses have decided to contract for Amazon’s
services rather than bear the cost of these capacities on their
own. Similarly, small-scale sellers can tap into the resources
that eBay provides so that those who sell only occasionally
can reach a national or global market.

Other businesses rely primarily on physical locations for their
sales. They may use their websites to advertise new products
and specials to generate traffic for their stores. Their websites
provide locations, directions and hours for those stores. If the
business is a restaurant, its website will offer menus and
perhaps a means of reserving a table.



Sub questions

Question Number : 151 Question Id : 5096479370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is NOT listed in the passage as an
advantage of online shopping?

Options:

1. * We can shop at any hour we would like

2. v We get lot of discounts while we shop online
3. = It is very convenient to sit at home and shop
4. = Online shops do not have any fixed timings

Question Number : 152 Question Id : 5096479371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following statements is true according to the
passage?

Options:

1. * Amazon is the only largest online retail shop.

2. = Amazon sells only physical objects in its website.
3. » Amazon sells mostly books in its online shop.

4. v Amazon sells third-party products.

Question Number : 153 Question Id : 5096479372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the author mean by ‘Tulfillment’ in this passage?

Options:

1. = It is the process of getting feedback from the customers.
2. v It is the process of delivering items to customers.

3. = It means fulfilling the orders in the customers’ wishlists.
4. = It means fulfilling our heartfelt desires.

Question Number : 154 Question Id : 5096479373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



As per the passage, what do the customers who shop online
want the most?

Options:

1. = They want to browse as much as they want to

2. v They want speedy delivery of their orders

3. » They prefer window shopping more than actual shopping
4. = They prefer selling to buying from online shops

Question Number : 155 Question 1d : 5096479374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What would be the most suitable title for this passage?

Options:

1. * Amazon vs eBay

2. = Fulfillment

3. v Virtual retailers

4. = Instant gratification

Question Id : 5096479369 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the questions that follow.

Businesses use the Internet for a variety of reasons. Some
businesses are virtual - they have no bricks and mortar
locations, and conduct all of their selling activities online.
Consumers love the convenience that the Internet provides -
we can shop at any hour and on any day. Most virtual
businesses are never closed. However, consumers also love
Instant gratification - we want it now, or as soon as
possible. Many consumers are willing to pay more for
speedy delivery of their orders. Virtual businesses rely
heavily on information and transportation technology to get
their goods and services to consumers as quickly and
efficiently as possible. The process of delivering items to

consumers 1s called fulfillment.

Amazon.com Iis one of the earliest and largest examples of
virtual retailers. People seek out these sites In order to buy
things. Amazon sells downloads of music and books at its
site for use In various electronic devices. Amazon also sells
a wide variety of physical objects for delivery to consumers’
homes. It also acts as a fulfillment service for many other
businesses. These businesses have decided to contract for
Amazon’s services rather than bear the cost of these
capacities on their own. Similarly, small-scale sellers can
tap into the resources that eBay provides so that those who

sell only occasionally can reach a national or global market.

Other businesses rely primarily on physical locations for
their sales. They may use their websites to advertise new
products and specials to generate traffic for their stores.
Their websites provide locations, directions and hours for
those stores. If the business Is a restaurant, its website will

offer menus and perhaps a means of reserving a table.



Sub questions

Question Number : 151 Question Id : 5096479370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following 1s NOT listed in the passage as

an advantage of online shopping?

Options:

1. * We can shop at any hour we would like
2. v We get lot of discounts while we shop online
3. = It I1s very convenient to sit at home and shop

4, = Online shops do not have any fixed timings

Question Number : 152 Question Id : 5096479371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following statements Is true according to

the passage?

Options:

1. = Amazon Is the only largest online retail shop.
2. » Amazon sells only physical objects In its website.
3. = Amazon sells mostly books in its online shop.

4, v Amazon sells third-party products.

Question Number : 153 Question 1d : 5096479372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the author mean by “fulfillment’ In this passage”

Options:

1. = It I1s the process of getting feedback from the

customers.

2. v It I1s the process of delivering items to customers.



3. # It means fulfilling the orders In the customers’ wishlists.

4. = |t means fulfilling our heartfelt desires.

Question Number : 154 Question Id : 5096479373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage, what do the customers who shop

onhline want the most?

Options:

1. = They want to browse as much as they want to
2. v They want speedy delivery of their orders
3. » They prefer window shopping more than actual shopping

4. = They prefer selling to buying from online shops

Question Number : 155 Question Id : 5096479374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What would be the most suitable title for this passage?

Options:

1. * Amazon vs eBay
2. # Fulfillment
3. ¢ Virtual retailers

4. = Instant gratification

Sub-Section Number: 3
Sub-Section 1d: 509647475
Question Shuffling Allowed : Yes

Question Id : 5096479375 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

(Question Label : Comprehension



Read the passage and answer the questions that follow.

What if India had not invented the zero? Perhaps computers
would not have seen the light of the day and the world would
not be connected through information technology. With the
Digital India programme, India may have an opportunity to
inspire and transform the world yet again.

Will it be able to transform the country into a digitally
empowered society and a knowledge economy using a gamut
of electronic services, applications, products and devices?
Time will tell. But imagine farmers in remote villages using
mobile phones to find out the right price of their food grains,
or to check for monsoon updates. Imagine modern cities
whose transport systems, healthcare facilities and civic
services are controlled through gadgets and apps.

All this may seem like a distant dream, but with technology
galloping away into the future, you have to jump on to it and
take control of the reins, now. Smart cities are springing up
across the globe and the idea of Internet of Things (I10T),
where all devices at home or in office are connected to the
internet and are able to speak to each other, are being
developed as we speak.

This power of technology, however, has to be delivered to
every citizen of the country. Digital accessibility is a
prerequisite to, and a mandatory goal of, the idea of Digital
India. A digital network, which will form part of this
mammoth effort, will belong to the people, just like roads,
railways and power lines.

Sub questions



Question Number : 156 Question Id : 5096479376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The author sees India as:

Options:

1. = a superpower that could lead the world
2. * a nuclear country that can control other superpowers

3. » a country that depends on other developed countries for
its digital needs

4. v a country that would inspire and transform the world as
it did before

Question Number : 157 Question Id : 5096479377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following may NOT be a part of digital India in
the future?

Options:
1. = Students carrying preloaded educational content on their
tablets instead of carrying many books in their school bags

2. v People preferring to use pagers for communication
3. » Paying for basic services online

4. = Making an online complaint against the government and
sorting out grievances

Question Number : 158 Question Id : 5096479378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is Internet of Things (IoT) as per the passage?

Options:

1. = Internet services that are useful for day-to-day activities
such as shopping are called IoT

2. v I0T is a concept wherein all electronic devices both, in
office and at home are interconnected and able to
communicate with each other



3. » The software used by farmers to know the status of their
crops 1s called Internet of Things

4. = The basic code that is essential to make the internet work
is called Internet of Things

Question Number : 159 Question Id : 5096479379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the author recommend in relation to technology?

Options:

1. = Everyone should know how to use internet these days.

2. = Technology must be utilised effectively to collect data for
using various gadgets.

3. v Readers must keep themselves updated with the latest
technology, otherwise they will be left behind.

4. = The changes in technology are not long lasting, so
teachers need not change anything in the learning
environment.

Question Number : 160 Question Id : 5096479380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the most important aspect of Digital India as per the
passage?

Options:

1. v Digital accessibility
2. » Internet of Things
3. = Digital networks

4. = Digital devices

Question Id : 5096479375 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the questions that follow.

What If India had not invented the zero? Perhaps computers
would not have seen the light of the day and the world
would not be connected through information technology. With
the Digital India programme, India may have an opportunity
to Inspire and transform the world yet again.

Will it be able to transform the country into a digitally
empowered society and a knowledge economy using a
gamut of electronic services, applications, products and
devices? Time will tell. But imagine farmers in remote
villages using mobile phones to find out the right price of
their food grains, or to check for monsoon updates. Imagine
modern cities whose transport systems, healthcare facilities
and civic services are controlled through gadgets and apps.
All this may seem like a distant dream, but with technology
galloping away into the future, you have to jump on to it
and take control of the reins, now. Smart cities are
springing up across the globe and the idea of Internet of
Things (IOT), where all devices at home or in office are
connected to the internet and are able to speak to each
other, are being developed as we speak.

This power of technology, however, has to be delivered to
every citizen of the country. Digital accessibility is a
prerequisite to, and a mandatory goal of, the idea of Digital
India. A digital network, which will form part of this
mammoth effort, will belong to the people, just like roads,

railways and power lines.



Sub questions

Question Number : 156 Question Id : 5096479376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The author sees |ndia as:

Options:

1. = a superpower that could lead the world
2. % a nuclear country that can control other superpowers

3. * a country that depends on other developed countries

for its digital needs

4, v a country that would inspire and transform the world

as It did before

Question Number : 157 Question Id : 5096479377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following may NOT be a part of digital India

in the future?

Options:

1. = Students carrying preloaded educational content on
their tablets instead of carrying many books in their school
bags

2. v People preferring to use pagers for communication

3. = Paying for basic services online

4, = Making an online complaint against the government

and sorting out grievances

Question Number : 158 Question Id : 5096479378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is Internet of Things (loT) as per the passage?

Options:



1. = Internet services that are useful for day-to-day activities

such as shopping are called loT

2. v loT I1s a concept wherein all electronic devices both, In
office and at home are interconnected and able to

communicate with each other

3. = The software used by farmers to know the status of

their crops Is called Internet of Things

4. = The basic code that Is essential to make the internet

work Is called Internet of Things

Question Number : 159 Question Id : 5096479379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the author recommend in relation to technology?

Options:

1. = Everyone should know how to use internet these days.

2. = Technology must be utilised effectively to collect data

for using various gadgets.

3. v Readers must keep themselves updated with the latest

technology, otherwise they will be left behind.

4. = The changes In technology are not long lasting, so
teachers need not change anything in the learning

environment.

Question Number : 160 Question Id : 5096479380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What 1s the most important aspect of Digital India as per

the passage?



Options:

1. v Digital accessibility
2. % Internet of Things
3. = Digital networks
4

. » Digital devices
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Question Number : 161 Question Id : 5096479381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“DERT HgT ST, g2

Options:

1. v ST



2. ferdsft
3. ® degd
4. » qogH

Question Number : 161 Question Id : 5096479381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FERT AT e &7

Options:

1. v eraT
2. = fadel
3. » dgd
4. = dcqHA

Question Number : 162 Question Id : 5096479382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

99 & T BT 9T U dogd g7

Options:
1. = M
2. v TR
3. % MEC

4. % 3T

Question Number : 162 Question Id : 5096479382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & O i TOT1 osg dEg &7

Options:

1. % 3T

2. v 3cIh
3. = MEC
4



Question Number : 163 Question Id : 5096479383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & T dl 9T e, g 372

Options:

1. % Bd
2. % BT
3. % B¢

4, v BT

Question Number : 163 Question Id : 5096479383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeT A & T IOT o5 dcdH &7

Options:

1. = &d

2. % BT
3. » Bg
4., v ST

Question Number : 164 Question Id : 5096479384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & & S =T ATeT 2TeE B2

Options:

1. * garee
2. % qdrea=r
3. v Uiaeam
4. % giaee=r

Question Number : 164 Question Id : 5096479384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foiest # & <€ adiell arer ereg &7

Options:

1. = gdrediel




2. = gdregar
3. v Ulaealar
4. % yigeger

Question Number : 165 Question Id : 5096479385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pt — oot <1, T T gl Y g:

Options:
1. = QT — e
2. % o — T

3. v I — T
4. % TRART — 9T

Question Number : 165 Question Id : 5096479385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el - Fel' eee FIA KT TEl 3T &

Options:
1. = Qq - g
2. = g -

3. v T - TRaIR_T
4. % TRaIRT - Ter

Question Number : 166 Question Id : 5096479386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = qThaTd

2. % HATTdeTId

3. » TaTIdarI®
4, v I h

Question Number : 166 Question Id : 5096479386 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

TR T YR T §aT &7

Options:

1. % STFddrdeh

2. % STdaTTeh
3. = Uardardeh
4. v HATIAIh

Question Number : 167 Question Id : 5096479387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Tohg g @ ¥ 372

Options:

1. v &9
2. % TG

3. % dg
4, = JT

Question Number : 167 Question Id : 5096479387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Torg’ T TaATH T 7 &7

Options:

1. v ial
2. » U@
3. = dE
4, = S

Question Number : 168 Question Id : 5096479388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T U § I HdT QLAY g2

Options:

1. » RTET g=aTa=ID



2. v IFTET T=ITaT<ID
3. = UTCHTUT STeIh
4, = TUETI®

Question Number : 168 Question Id : 5096479388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘g U3’ H §F ST [geyor g7

Options:

1. » TATegd TEITITIh
2. v fATeaT gegas
3. = TUNATOT Sreh

4. = JUTdI<<h
o

Question Number : 169 Question Id : 5096479389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MY & gaia erq 27

Options:

1. = e
2. % WEAT
3. = ToeAr
4, v qTeHAT

Question Number : 169 Question Id : 5096479389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fart & TFA® uig &

Options:

1. % ST

2. & HIAT
3. = Tocar
4., ¢ TIcaT



Question Number : 170 Question Id : 5096479390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSHT ISH T oW ATFT 8 [shaT G 52

Options:

1. » oTSdT
2. v 3OhT
3. * YA
4, % oM

Question Number : 170 Question Id : 5096479390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IShT 36T HETA oFT g H ohar faehyor &

Options:

1. = olSehl

2. ¢ 3R
3. = T4TeT
4. = ST

Question Number : 171 Question Id : 5096479391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T P G Rrede 2

1. v +3®
2. % 9T + 3
3. % T+ 3H
4. % 9T + F@

Question Number : 171 Question Id : 5096479391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T G A< aem:

Options:

1. v &l + 3




2. % ol + Sk
3. = o + 3k

4. = oT + Zeh

Question Number : 172 Question Id : 5096479392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T | DI 9T GATT 872

Options:

L. dcgey
2. % &g

3. v 9gsllig
4, = T&

Question Number : 172 Question Id : 5096479392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZRTeT’ H Fid T TAT &7

Options:

1. = dcTey
o

2. = ded

3. v agﬁ‘l‘i%‘

4, = ﬁfﬁg

Question Number : 173 Question 1d : 5096479393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘37 P ¥ by IUH BT UL F3AT 32

Options:

1. v 3r=a¥
2. % 3d
3. 37
4, % ®IT

Question Number : 173 Question Id : 5096479393 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

‘3T FOT H TR 39T hT TAET 83T §7
O

Options:

1_ ¢ Hodd

-

2. = 3d
3. % ¥
4. % FYOT

Question Number : 174 Question Id : 5096479394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # Thg 1T &I U g3 g2

Options:

1. =17
2.5
3. v
4, % A

Question Number : 174 Question Id : 5096479394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A R TSI T TIeT §31T%‘?

Options:

1. = ©T

2. %
3. v T
4. %« I

Question Number : 175 Question Id : 5096479395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & 31 97 e, Sl TET 37

Options:

1. * 8RIgT




2. v HUq
3. % BT
4, » UShT

Question Number : 175 Question Id : 5096479395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeT H hidd T 2Uec TAITOIIT Tal &7

Options:

1. » g

2. v 9d

3. = &gl
4. % YSehal

Question Number : 176 Question Id : 5096479396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToraT 5T gohdT §” [T Tea=8 BT 3ITEI0 872

Options:

1. * T U=
2. * GeATH UCa=
3. » TeI9IuT UcE=er
4. v TordT UcE=¢

Question Number : 176 Question Id : 5096479396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TolEgT ST TohaT & T USEed T 3SIEI0T &7

Options:

1. » G Ggaee
2. » HAdATH Ygsed
3. = AT UgEey
4, v TohdT s




Question Number : 177 Question Id : 5096479397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“QATH T TgT T SIS e § H AT g YR aT SUaTad g?

Options:

1. v T 3UATF

2. % TaQqr IaTFT

3. = TohaT SUeTdT

4, « Tohar TaQruor Iuearaa

Question Number : 177 Question Id : 5096479397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTH o el fof H A3’ ey A ‘H A3em FT ThR &
3T §7

Options:

1. v T 39are

2. = [IAY0T 3UaTRy

3. = TohaT 39arery

4. = forar faeivor 3UarRT

Question Number : 178 Question Id : 5096479398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G MehotdT g1’ Thd Teh T a1 g 87

Options:

1. » 3UdTFT

2. TAY ITag
3. * GYeh qTHY
4, v el ATy

Question Number : 178 Question Id : 5096479398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GIoT Tolehelal &1’ Th TR T a1 &7

Options:




« 3T
« TR g

% FYFA T

ol

v el dlard

Question Number : 179 Question 1d : 5096479399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCSHH T &8 & I 9T a1 g 87

Options:

1. * TS T AT B, 3§ 7Y
2. % T B MAST WX, 3 7Y
3. v § WY, TSl T 4T P
4. % g UY, TIT B Tl

Question Number : 179 Question Id : 5096479399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yeshH T ECC A e AT AT A &7

options:
1. = L& 9T 24T R, & T
2. = ZAT T IS W, & T
3. v & W, IS 9T AT K
4. = & w8, 1 A IS W

Question Number : 180 Question Id : 5096479400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3~ Pl &8 & I 9T AT e 87

Options:

1. * SITYAT 4 T&dDh QA
2. v BTYAT 7 T&ad @A
3. * BHAT T [EdD GUC|




4, * BHAT 7 [ QA

Question Number : 180 Question Id : 5096479400 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Hedd T TEC @ el AT dFT UG &7

Options:

1. = SToHar o qece Edier]
2.¢gﬁmﬁwaﬁ€rl
3. * 3fTydr o qedes e
4. » 3TCEAT o qEaH ZHET

General Hindi2

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:
IsthisGroup for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section I d:

Question Shuffling Allowed :

10
509647171
0
120
No
No
0
20
No
Yes
0

0

General Hindi?

509647331
1

Online
Mandatory
12

12

20

1
509647477
Yes



Question Number : 181 Question Id : 5096479401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T BT TAT AT 52

Options:

1. * grg@Er
2. % el
3. = UIey
4, v Uie=aT

Question Number : 181 Question Id : 5096479401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘el T gIEET §7

Options:

1. = argEmE
2. » heNT
3. = 99
4. v 9Rear

Question Number : 182 Question Id : 5096479402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. » A=
2. v W
3. % g

4, % IfYATEAT

Question Number : 182 Question Id : 5096479402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I’ T AT Y 8

1. = AT



2. v ST

3. » &9
4.&3@?413&

Question Number : 183 Question Id : 5096479403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HY@ ThaenT Tgigel g?
Options:

1. v Tur
2. % ST
3. = TelsTelr
4. % T

Question Number : 183 Question Id : 5096479403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. v fReor
2. % HT0T
3. = fesfelr
4. » TGOT

Question Number : 184 Question 1d : 5096479404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P ThehT T §7?

Options:

1. %
2. % el

3. v 3w
4, = 7Y

Question Number : 184 Question Id : 5096479404 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

FRATe]’ ThERT qATIATT &7

Options:

1. = g
2

2. % Slol
3. v T
4. = T&H

Question Number : 185 Question Id : 5096479405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1Y ThganT Tt gl 37

Options:

1. v &=dT
2. % 8

3. % Hdeld
4, % PO

Question Number : 185 Question Id : 5096479405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. v &Tdr

2. % Yd

3. = Hdolsl

4. % hIOT

Question Number : 186 Question Id : 5096479406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IAqYEL” DI Tl e 3

Options:

1. = q@t




Question Number : 186 Question Id : 5096479406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

313?:—13@ FT AoNH o &

Options:
2.
3. v SgH@Er
4.

Question Number : 187 Question Id : 5096479407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Iverd’ I TAeTI I

Options:

1. % 30
2. % g9
3. = gu=ag
4, v A

Question Number : 187 Question Id : 5096479407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Hedd &I [deld ghm:

Options:

1.« 23y
2. % B¥
. % HHAT

3
4. v Hdedd



Question Number : 188 Question Id : 5096479408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = 3METd
2. v g g
3. = 3ol
4, % YIATAT

Question Number : 188 Question Id : 5096479408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT TohgenT Terelid 37

Options:

1. = 3MTd
2. v Tenra
3. % M
4, = FITHT

Question Number : 189 Question Id : 5096479409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Fog AU ¥ TQT P’ Uieh b @iTdhd SIec, T Telel | gI:

Options:

1. = 3O
2. » TATui
3. v IO
4. % YU

Question Number : 189 Question Id : 5096479409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey faulca @ wam =1 9fea & Ymifera asg 1 R@ed ghem:

Options:

1. = 39Ted




Question Number : 190 Question Id : 5096479410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Fp apr Forefe 3

Options:

1. v ad
2. % 31T
3. = Jdg
4. % ¢E

Question Number : 190 Question Id : 5096479410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3fegea’ &7 faend &

Options:

*

1. v eTd
2. = 37eMTd
3. ® 3cdfold
4

_%ﬂﬁa

L

Sub-Section Number: 2
Sub-Section 1d: 509647478
Question Shuffling Allowed : Yes

Question Id : 5096479411 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

YitheTel h ld THTH T ETTAdT ¥ Thdrd FU T 7 T84t SHdT Ui id
g Hiodh IUDT JHTHTT U AT g ST 37T 3AT8D FARI gl TTHE, TEAE,
S 3 WS ST AT Bl AT g1 GHSI, 3ITST W eI AT I0d H 419 g
Ig Did 39 AT SMd-UTTd I8 7ig Dis’ 1 Telget ITAT I Id gl P
T AT & ERTAeT U TR DAl DT AR AT AT & oAl Dl 1
AT IThT BierdT BT I8 TZT 3l TAUT Dl ATBATTET i LR 3R
TRigd Pl &Td 31T dclel T GUT T SITET TG Td g1 ST gl el 59-59
STHIST 3N 377 T@Ty & Tl Q oIl WIS, T TUdT o Geeil &1 G ol &d g adf
JeTdT, T 3R WA & IAT o TAEBIR Dl dhelel T W BRI T 3|

Sub questions

Question Number : 191 Question 1d : 5096479412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS T e AU 2

Options:

1. = 3MICRTelT Piadr

2. v qithepTel 1< Diad]
3. = ATdepTeil=T Pradr

4, % 3TYh il

Question Number : 192 Question Id : 5096479413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U T 3T 3

Options:

Question Number : 193 Question Id : 5096479414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YTaTT T 31T 3

Options:



1. = gEde
2. v T
3. = gy

4. * TG

Question Number : 194 Question Id : 5096479415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o ar aref giar &:

Options:

1. # dRIT

2. % TP
3. % AT
4, v JUATT

Question Number : 195 Question Id : 5096479416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yithdlel 1 Died & preg # fhgar I g

Options:

1. = T
2. % LoTHC
3. v HFIdTdTG

4, = JTddTe,

Question Id : 5096479411 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



A fad 910 ITgITer F UGHT TP A WeaAl & Il ATSIC
HTFdRTST h hid JHTH ATl & Thild gu X T AE 3GFT
AR T & Siesh 3R AT T g § ST 36T 317k
HATT &1 LTS, TEeds S e A S AT HT AT
del GHSI, 3o 87 addATT AT H =aIed &1 J§ Fid 39
FAT SfA-O1fd 5 % Fie1 for@mey 38H 3cal ad g1 FER
FT HIST F Il T 3R FiddT LT IR AT AT &
HEUTOT T ST HLaT Sefeh] HiddT HT 38T T8 &1 JordT
AR HITS hl IHTURONM H TTad hl ST TSl doehlelle] THI
O SIET Tk & 30T &1 9 S9-39 STAle 3T 379e Tard
o ToIw oflar 8173, O T & Herel T Tl T ad § e Jordr,
TH 3N AT & Hedl & TRERR T oo Hg IH7 FROT ST
2

Sub questions

Question Number : 191 Question Id : 5096479412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T g AT &

Options:

1. = 3TfCeRTolle Hiddl
2. v HATddeTellel hiddm
3. = Qfderrellel iddm
4. » 3TYforh Higar

Question Number : 192 Question Id : 5096479413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘AR T 3T &

Options:



1
2

3. = 3efd
4, v 3T

Question Number : 193 Question 1d : 5096479414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTdeh L’ T IR &

Options:

1. » FATA
v &

2.
3. = HIASE
4.

# Halchelel
e B

Question Number : 194 Question Id : 5096479415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TOEFRT &7 39T g1 &

Options:

1. = AR
2. % TR

3. = HFHATA

4. v I9HATA

Question Number : 195 Question Id : 5096479416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTFarTellal HIAAT & e A O TAAT &:

Options:




3. v HlAgdIdIg

4. = STTadre

Sub-Section Number: 3
Sub-Section 1d: 509647479
Question Shuffling Allowed : Yes

Question Id : 5096479417 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

S T&d WU e el UGehd U8 T4 T[T & Iqa Sy

Tt FATIE a8 BIdl § T oag Yol IcHD gl gidT gl FATdarc!
gD oI P ERAR Y& BT 3 U I AT WITTURB g1 &7 Tl
JATIATET TR T I EUTCHD ST TAT Jeh Gt e @l U=t
T ¥ 3@dT gl dg ATUd JTATID Sid=T § YIAE §ievT AT+T a1 i
TEATATT AT ATAT & FIFTCHR DT g, IJHell Dl T TodeT GHIE Bl
TATHT 1T 3, Tehe AT ATAT P BISTTTOh Qoit & AT BT AT TEqd gt
BT Tl g T THATII TAT UL el FTATISID Siter & UTH e arqwer
dht TS, W AGIAT g, g AT &, ThIell IATAT 3 3N AT Pid &
AT DT BellcHd THIIAAT BT gl 3UTGIT TATH P idel F THTDHR
<l T8 el UTAT T URTEATAT & HiaY edisid giv <t o1d gl g

Sub questions

Question Number : 196 Question Id : 5096479418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTETTST T eI AU 2

Options:

1. v ZYTarcy e

Question Number : 197 Question Id : 5096479419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘I PT AN BT &

Options:

1. = ToeT&um
2. % QUi

3. v 34
4. « Taferer

Question Number : 198 Question Id : 5096479420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR T MU 3

Options:

1. * T@imar
2. v rigendT
3. = faferear
4. % TaTredr

Question Number : 199 Question Id : 5096479421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘eI @ 379 g
Options:

1. v 3THeTH
2. » QATGA
3. % T8

4. % EET

Question Number : 200 Question 1d : 5096479422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SEIRRILE AR K C

Options:

1. # heddTcHD

2. % JhoUdTcHD

3. * hS
4, v TEHE



Question Id : 5096479417 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

sirer fe=t aTT AT T Tt U5 I Te&Al & S e’
Tl TSR qEdfalss Bl § W I8 TeheldlcHS gl Bldl
gl TUTIATET ok Tcd T SANAN TEIT FIAT § T 38 A
WA theh 8l &l Tl JATITET TR 3T Held FUTcHD
ST 4T 38 GHD faedr 1 Uil Forl & dmar g1 a8
egT9eh ATHTIoleh Siide H UASe &R dTellT WehiX hl ol
JT IRAT F AR HIAT &, el kI Teh Heddld TATE
T TGTHAT eIl &, fohe] TRY STAT T RIS dolt &7 AT
<l UEdd A8l T 2T I8 TRT T3 JaUT 9ET T ATHAIGS
Sitdel & UTCd AT 3fe[dl T TI0E 9T FeIdT §, 3eg clIerdl
g, sfehloll SalaT & 3T 3Uell Ffd F 3TNT 3eleh FollcH
oSt ear &1 safev gared F Rige! F TWaeer 1 fte
Sl grat oT2aT gREATaAr & fiay Sieid gl T &1 el g

Sub questions

Question Number : 196 Question Id : 5096479418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T hard TaST &:

Options:

1. v JATITET Tee
2. = THATSARGT TS
3. » HANARINUEE T
4. = FHeldET TEC

Question Number : 197 Question Id : 5096479419 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

eI’ T 3T BT &

Options:

1. = Taer&ror

2. % YOl

3. v 34IH

4. » @AY

Question Number : 198 Question Id : 5096479420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GATSE T 3T &

Options:

1. % WhIlardr

2. v HIHGHAT
3. = Tafesear
4. » RAEar

Question Number : 199 Question Id : 5096479421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI T 3T &

Options:

1. v Mg
2. % HANGET
3. = dcd
4. « EET

Question Number : 200 Question 1d : 5096479422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e JATAAIEr Tiee FdT gldr g7

Options:



ol

FedallcHSb

dheUdlcHS

N
c lerclla ™o

JEd s
M



